A{—I

USE
TS-P1A1-x
FOR
CONDUCTOR
SPECIFY

A ¢—

NOTE A:

BILL OF MATERIAL Type of CU: XARM
CU Function: ITEM NYSEG CMP )
TL69 for 35kV & 46KV, No, | QTY. | uoMm MID D CU: C*PT-TT-9W-X-AB12
TG69 for 69kV through 344kV, 1 | 1CU | EA [1004016522 ARM WXRM 3-3/4 X 5-3/4 X 12F 04DG22A
T345 for 345kV and greater.
For correct CU: BILL OF MATERIAL Type of CU: POLE
substitute 5 for NYSEG, ITEM NYSEG CMP . *
6 for CMP or 9 for RG&E no. | @TY: | UOM MID MID CU: C*PT-TN-XH-C2E
in place of asterisk (C*). 2 2 EA [1000910500 NUT LCK M-F SQ FOR 1/2 BOLT
3 1 EA [1000910600 NUT LCK M-F SQ FOR 5/8 BOLT
4 1 EA [1000910700 NUT LCK M-F SQ FOR 3/4 BOLT
5 2 EA [1000943500 WSHR CRVD 3 SQ X 1/4 H 13/16
6 1 EA |1000946000 WSHR FLAT 2-1/4 SQ X 3/16 H 13/16
7 1 EA [1005250040 GRID TMBR CNCTR 4-1/8 X 6-3/4
8 1 EA 1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
9 1 EA 192155 BOLT MACH GALV SQHD SQNT 5/8 X 14
o 10 1 EA 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
VIEW "A-A" 11 2 EA |1035532006 BOLT WSHHD GALV SQNT 1/2 X 6
12 1 PR | 1035950604 BRC WD NON-ADJ C-C 42.43 HB2017/BM411
13 1 EA [1036470025 GRID TMBR CNCTR 4-1/8 SQ 15/16 H
14 1 EA 6000274600 | WSHR HELICAL 5/8
15 1 EA 6000274610 | WSHR HELICAL 3/4
BILL OF MATERIAL Type of CU: INSO
TEMT arv. [uom | MYSES cvP CU: C*CT-TI-5P-V2 (3/STR)
20 1 EA [1005543510 INSUL CLMPT VERT 35kV 3/4 STUD GRY
21 1 EA |1035469027 BOLT STUD POST INSUL 3/4 X 7 TO 7-1/2

OTHER STANDARD DRAWINGS REQUIRED:

TD-03-001
TD-03-002

NOTE B:
NOTE C:

NOTE D:

12'-0"
6| ‘__ 2-6" 26" _>| 6
1'-6" 4-0"
& ‘ '
e ae = %
o ) em T @f me
z @ee@o
W —EERE)
NOTE D
GROUND I:\INE

FOR MAINTENANCE OR SPECIAL APPLICATION PURPOSES ONLY:
DO NOT USE FOR NEW CONSTRUCTION EXCEPT WHEN APPROVED
BY ELECTRIC SYSTEM ENGINEERING - TRANSMISSION SECTION.

|
|
|
|
|
i

FOUNDATION/BACKFILL DETAIL - CLASS 1 OR SMALLER
FOUNDATION/BACKFILL DETAIL - CLASS H POLES

POLE DRILLING: CROSSARM HOLE - 13/16"; BRACE HOLE - 11/16"
TO LOCATE THIS HOLE, BOLT ONE END OF NON-ADJUSTABLE

BRACE (ITEM 9) TO BOTTOM OF LEVEL CROSSARM, POSITION
BRACES AGAINST CENTER OF POLE AND MARK POLE FOR
DRILLING AT HOLE IN END PLATE.

TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES &
OTHER REQUIRED HARDWARE. HAND TIGHTEN TO INSURE FIT.
USE HYDRAULIC TOOLS TO SET GRIDS PROPERLY.

IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

FOR ALL MACRO CUs: (Type of CU: STRU)

Conductor .
CU Macro | Conductor | “specify Static
C5M-TN5HC2E-3 (3)-4/0 AAAC 7 TS-N2F1-3 none
C5M-TN5HC2E-B (3)-477 ACSR 18/1 TS-N2F1-B none
C5M-TN5HC2E-X (3) - 795 ACSR 26/7 TS-N2F1-X hone
(

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" = 1'-0"
IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
U ggﬁg?g"&%ﬂloo% 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS PORCELAIN VERTICAL POST INSULATORS DATE
USA MANUAL TM.2.23 SINGLE WOOD CROSSARM - 12 FOOT LENGTH /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]Date App.:
L.A. Best | 6/24/2013 | Bartczak/Becken/Shepard | / /2013 | BarryR.Hart | / /2013 TN'SH'CZE Sheet 1




‘ Detail B
& 7 > ©'O'C) SN,
& ) 419  pROFILE FOR "TO" {
I OR "TP" STATIC
REFER TO
N P
FIRNEI N €) O ) ATTACHMENT "TS" SECTION
) FOR
5 CONDUCTOR
m~ SPECIFY
-
%
6 INSULATORS | i
PER STRING |
OR \
C*CT-TI-OY-P3-D | 59) 8 28 (59 57
. 24 24
Q
~
‘ = T
REFER TO ks = = SR
"TH" AND "TR" ¢ : 52
SECTIONS 7 —
FOR GUYING O TOP BOLT OF EYE PLATE FOR
AND ANCHOR & | wrmmrortnumrron |\ 990@@@
DETAILS NOTE G /1IN SIDE VIEW
USE \
INSULATED Lz / \
20M GUY L SWe / \
ASSEMBLIES LES3 / \
'_
> O / \
F o 7 \
/ \
/ \
S40° |\ 1,402+ NOTEH
(Typ,) L (TYP)
L
G OF TRANSMISSION LINE
LS
(
\\ //
POLE GROUNDING  : Detail G
USE TG-02-002 - -
AND TG-05-001-W

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:

TD FOUNDATION & BACKFILL

TG SWITCH MAT, GROUND WIRE & GROUND ROD DETAILS

TH  GUYING ASSEMBLIES

TJ CONDUCTOR AND STATIC WIRE RELATED

TK  MARKINGS

TR  GUY ANCHORS

TU  SWITCHES AND ARRESTERS
NOTE B: POLE DRILLING: 5/8" BOLT - 11/16" DIAMETER HOLE
3/4" BOLT - 13/16" DIAMETER HOLE
7/8" BOLT - 15/16" DIAMETER HOLE

NOTE C: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS
PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU

NEED ASSISTANCE.

NOTE D: THIS STRUCTURE IS A FALSE DEADEND.

NOTE E: THIS STRUCTURE IS TO BE USED IN SPECIAL APPLICATIONS ONLY.

NOTE F: GROUND WIRE (ITEM #23) SHALL BE INSTALLED ALONG THE ENTIRE LENGTH OF THE CROSSARM, CONTINUOUS FROM CONNECTIONS LOCATED AT EITHER END.

NOTE G: IF GUYS ARE REQUIRED USE TJ-09-001-SC WITH THE TOP BOLT AT THE SPECIFIED LOCATION.

BILL OF MATERIAL (CU Type: POLE)
o | QY. | uom o CU: C*PT-TN-5HSI1A
1 4 EA [1000910500 [NUT LCK MF SQ 1/2 BOLT GALV
2 10 EA |1000910600 [NUT LCK MF SQ 5/8 BOLT GALV
3 7 EA |1000910800 [NUT LCK MF SQ 7/8 BOLT GALV
4 5 EA |1000911700 [NUT SQ 5/8 BOLT GALV
5 5 EA | 6000273770 |[NUT SQ 7/8 BOLT GALV
6 4 EA | 6000272053 |BOLT SQ HEAD 1/2 X 7 W/ SQ NUT (NOTE C)
7 8 EA [1035473020 |BOLT SQ HEAD 5/8 X 20 W/ SQ NUT (NOTE C)
8 1 EA 192163 [BOLT DA 5/8 X 16 W/ 4 NUTS (NOTE C)
9 2 EA (1035475016 |BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE C)
10 2 EA 11035475022 |BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE C)
11 5 EA | 6000272460 |BOLT DA 7/8 X 26 W/ 4 NUTS (NOTE C)
12 4 EA | 6000274590 | WASHER HELICAL (1/2"
13 10 EA | 6000274600 | WASHER HELICAL (5/8")
14 14 EA | 6000274612 | WASHER HELICAL (7/8"
15 4 | EA 6000274808 | WASHER 2" FLAT ROUND (1/2")
16 10 EA 11000946500 | WASHER 4" SQ. FLAT (7/8"
17 8 EA | 6000274821 [ WASHER 4" SQ. CURVED (5/8")
18 5 EA (1036200005 |CLMP GRND WIRE U-CLIP 11/16 H
19 5 EA [1036200007 | CLMP GRND WIRE U-CLIP 15/16 H
20 4 EA [6000274040 (PLT POLE EYE 15/16 H
21 4 EA |[6000274505 |DEAD END TEE, 60K
22 2 EA |1036470025 |GRID, TMBR CNCTR, 4-1/8 SQ 15/16 H
23 3 EA (1036232100 [ CONN 1B W/SPCR
24 2 EA | 6000740330 | CROSSARM BRACES WOOD, 35" LONG (1 PAIR)
25 1 EA [ 6000820052 |POLE TOPPER 19"
BILL OF MATERIAL - 1200 AMP DISCONNECT SWITCH (CU Type: SWITCH)
Nt | Qrv. | uom v CU: C*CT-TU-SW5A2V-I
26 1 EA [ 6000641180 [ SWITCH, 1200A LB, 38KV
Mo | Qrv. | uom oA CU: C*CT-TU-SWS5I6
27 1 EA |[1009211001 [ SWITCH DISC, IN-LINE, 600A, 38KV
BILL OF MATERIAL (CU Type: XARM)
o' | erv. | uom oA CU: C*PT-TT-9F-C-BB12
28 [2 CUs | EA | 6000740560 [DOUBLE CROSSARM FIBERGLASS, 2 PIN 4-3/4" X 5-3/4" X 12FT
BILL OF MATERIAL (CU Type: INSO)
o | Qrv. | uom o CU: C*CT-TI-9P-D3-6
29 [6 CUs | EA |6000310739 [INS SUS CL52-3 20K M&E BRN (6 UNITS/STRING)
o' | arv. | uom o CU: C*CT-TI-9Y-P3-D
29 6 EA | 6000316439 [INS POLY Y-BALL 30K 6 UNIT EQ.
TEM T orv. | o USA CU: C*CT-TI-5Y-V2 (6 CU'S)
30 1 EA | 1005565001 | INSUL CLMPT VERT 35KV 3/4 STUD GRY POLYMER
31 1 EA (1035469027 [BOLT STUD POST INSUL 3/4 X7 TO 7-1/2

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" =5'

NOTE H: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING
ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE DRAWING.

. TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION
?& CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS 1-WAY SWITCH STRUCTURE DATE
USA MANUAL TYPE 1-SW 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin |10/25/2012 Becken/Hart 30572015 | Barry R Hart 5snois| 1 M2.23. TN-5HS1A-X [ sheett




USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
C*M-TNSHS1AF-B-H | (3)-477 ACSR18/1 | (1) - 7#7 (7/16") AWLD TS-N2F2T3-B TP-W-DE-G-H
C*M-TN5HS1AF-B-O | (3)-477 ACSR18/1 | (1) - 36 FIBER OPGW TS-N2F2T3-B TO-W-DE-G-O
C*M-TNSHS1AF-B-S | (3)-477 ACSR 18/1 |(1)-36 FIBER SPEC. OPGW TS-N2F2T3-B TO-W-DE-G-S
C*M-TNSHS1AF-X-H | (3)- 795 ACSR 26/7 | (1) - 7#7 (7/16") AWLD TS-N2FE2T3-X TP-W-DE-G-H
C*M-TN5HS1AF-X-O | (3)-795ACSR 26/7 | (1) - 36 FIBER OPGW TS-N2F2T3-X TO-W-DE-G-O
C*M-TN5HS1AF-X-S | (3) - 795 ACSR 26/7 | (1)- 36 FIBER SPEC. OPGW TS-N2F2T3-X TO-W-DE-G-S
29 & 19)(5 29
10
28
11 Q2 |2 3
5 14
24
8 4 R 4
2 L8
View A-A

JUMPER POSTS NOT SHOWN FOR CLARITY

29 59 29
660TE ﬂ

Elooo » o 61 &

\ 14 A s :
16 19
| 2 30° NOTEF W7 (28
29 29 29

.Detail 'B' Detail 'C’' Plan View
TYPICAL OF ALL SWITCH SCALE: 1"=5'

OPERATING PIPE SUPPORTS

o
G/
¢ OF TRANSMISSION LINE

GUYING PLAN
ONLY IF GUYING IS REQUIRED

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 30" U.N.O.

TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

?& CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS 1-WAY SWITCH STRUCTURE DATE
USA MANUAL TYPE 1-SW 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin|10/25/2012 Becken/Hart 3/05/2015| Barry R. Hart | 5/18/2015 TM2.23. TN-5HS1A-X | sheet2




_ | %\ E’E‘ﬂSEE PLAN & PROFILE FOR @ _@
o / - \ (5 ) "TO" OR "TP" STATIC m/ 7/""IL,,.=
/&— ATTACHMENT 9@@@

[
a<] -
\\ _//

AN

6 INSULATORS @
PER STRING /‘
OR
C*CT-TI-9Y-P3-D
REFER TO

70"

5-75"

"TS" SECTION @ |
FOR '
CONDUCTOR L _ Detail ‘A’
] SPECIFY = E GROUND WIRE ON INSIDE OF ARM. SHOWN TO ILLUSTRATE INSTALLATION.
= REFER TO L=
© “TH" AND "TR" f
SECTIONS FOR |
GUYING AND >
ANCHOR DETAILS Z
. 50 '-';J [ o
Ry USE INSULATED ~EED @
- 20M ASSEMBLIES Fm J ’
TR-01-X POLE N
GROUNDING /
USE TG-02-002
@ AND TG-05-001-W n _
1'-0" MIN ‘ M -l é 7777777NE%>—H_|
20" MAX, :
NINUNUNUI INANHNININYINY, Detail 'C’
5 . ~ CABLE TERMINATOR GROUNDING . .
© 44 10 (3 - 45
2
11 32 = 30
16 -
42 3 46 : ]
: : \12 - g > =
] ] 5 27) 1BINZ3) 458> 7 i 35 = 3
N\ 19 27 N2 [ifF (16
24 20 \. - 30 28
o 9, 2 2
Iﬁ 9 20 \ 4 \ 19 9 : 24 : 9
L L UL 2 2 ? 1 2
¢ OF TRANSMISSION LINE T 26 \ S N
View A-A View 'B-B' View 'C-C'
A (2)
THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
Contact Engineering Standards - Transmission Section for the creation of new standards and CUs. Drawing Scale: NTS
TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION
I ?‘% CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
) Detail 'C' gy -
Plan View LIGHTNING ARRESTER GROUNDING Detail ‘B ESE,SDRQLA ST@EESEFS TERMINAL DEAI_II)_\E(EIE SI;SSER STRUCTURE 5/23255
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Frankiin|10/29/2013 Becken/Hart s1a7015 | Barry R Aart [ 5erots]| | M2.23. TN-S5HTDK-X| sheet1




BILL OF MATERIAL (CU Type: POLE)

Q
_'
=<

UOM

IUSA
MID

CU: C*PT-TN-5HTDK

EA

1000910500

NUT LCK MF SQ 1/2 BOLT GALV

EA

1000910600

NUT LCK MF SQ 5/8 BOLT GALV

EA

1000910800

NUT LCK MF SQ 7/8 BOLT GALV

EA

1000911700

NUT SQ 5/8 BOLT GALV

EA

6000273770

NUT SQ 7/8 BOLT GALV

EA

6000272053

BOLT SQ HEAD 1/2 X 7 W/ SQ NUT (NOTE C)

EA

1035473020

BOLT SQ HEAD 5/8 X 20 W/ SQ NUT (NOTE C)

EA

1035473026

BOLT SQ HEAD 5/8 X 26 W/ SQ NUT (NOTE C)

EA

191868

BOLT DA 5/8 X 20 W/ 4 NUTS (NOTE C)

EA

1035475016

BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE C)

EA

1035475022

BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE C)

EA

6000272460

BOLT DA 7/8 X 26 W/ 4 NUTS (NOTE C)

EA

1007420850

SCRLAG 1/2X 3

EA

6000274590

WASHER HELICAL (1/2")

EA

6000274600

WASHER HELICAL (5/8")

EA

6000274612

WASHER HELICAL (7/8")

EA

6000274808

WASHER 2" FLAT ROUND (1/2")

EA

1000946500

WASHER 4" SQ. FLAT (7/8")

EA

6000274821

WASHER 4" SQ. CURVED (5/8")

EA

6000274880

WASHER 4" SQ. CURVED (7/8")

EA

6000274040

PLT POLE EYE 15/16 H

EA

6000274505

DEAD END TEE, 60K

EA

1036470025

GRID, TMBR CNCTR, 4-1/8 SQ 15/16 H

EA

6000740330

CROSSARM BRACES WOOD, 35" LONG (1 PAIR)

ITEM
NO
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25

ENENENINTG] ] N] o [0 oy e [N [P T BN Y Y T TN [ ENY [V g oY e

EA

6000820052

POLE TOPPER 19"

BILL OF MATERIAL (CU Type: SHLDO)

ITEM
NO.

QTY.

UOM

IUSA
MID

CU: C*CT-TN-5HTDK

26

EA

1036200005

CLMP GRND WIRE U-CLIP 11/16 H

27

EA

1036200007

CLMP GRND WIRE U-CLIP 15/16 H

28

EA

1036232100

CONN 1B W/SPCR

29

EA

6000113592

CONN 2B GRD BRZ

30

EA

6000620100

EQUIPMENT MTG CLMP

31

EA

6000620090

CABLE MTG BRCKT

32

EA

6000312878

WILDLIFE PROTECTOR

33

EA

6000215945

CABLE TERM SIL RUBBER COLD SHRINK

34

EA

6000230560

CONDUIT 6" X 10'-0" GALVANIZED

35

EA

90459

ELBOW RIGID CONDUIT 6" GALV.

36

EA

X

COUPLING RIGID CONDUIT 6" GALV.

37

EA

6000620110

STANDOFF BRCKT F/ (2) 6" RIGID CONDUIT

38

EA

6000620120

STRAP SS F/ 6" RIGID CONDUIT

39

EA

6000251050

CLMP GRD F/ 6" RIGID CONDUIT

40

EA

6000221535

GRIP RISER F/ 6" RIGID CONDUIT

41

Pk loo|w|ono|w|w|w|o |G| &|w

EA

6000234260

CAP GALV F/ 6" RIGID CONDUIT

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

BILL OF MATERIAL (CU Type: XARM)
o | erv. | uom o CU: C*PT-TT-9F-C-BB12
42 [2 CUs | EA | 6000740560 [DOUBLE CROSSARM FIBERGLASS, 2 PIN 4-3/4" X 5-3/4" X 12FT
o | @rv. | uom oA CU: C*PT-TT-5F-M-BB12
43 |2 CUs | EA | 6000740580 | SINGLE CROSSARM FIBERGLASS, 4" X 6" X 12FT

BILL OF MATERIAL (CU Type: INSO)
o | erv. | uom o CU: C*CT-TI-9P-D3-6
44 |3 CUs | EA | 6000310739 |INS SUS CL52-3 20K M&E BRN (6 UNITS/STRING)
No | Q. | uom e CU: C*CT-TI-9Y-P3-D
44 |3 CUs | EA | 6000316439 |INS POLY Y-BALL 30K 6 UNIT EQ.

BILL OF MATERIAL (CU Type: LTNG ARRESTER

o | Qrv. | uom o CU: C*CT-TU-AR5-E029
45 3 EA [1088500135 [INT CLASS LTNG ARRSTR, 36KV

BILL OF MATERIAL (CU Type: SWITCH)
ot | Qrv. | uom oA CU: C*CT-TU-SW5A2V-I
46 1 EA [ 6000641180 [ SWITCH, 1200A LB, 38KV

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*)).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:

D FOUNDATION & BACKFILL
TG

TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B: POLE DRILLING:

5/8" BOLT - 11/16" DIAMETER HOLE
3/4" BOLT - 13/16" DIAMETER HOLE
7/8" BOLT - 15/16" DIAMETER HOLE

SWITCH MAT, GROUND WIRE & GROUND ROD DETAILS

NOTE C: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS -TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE D: CONDUCTOR TENSION TO THIS STRUCTURE SHALL NOT EXCEED 3000 POUNDS AT NESC HEAVY

LOAD.

NOTE E: THIS STRUCTURE IS TO BE USED IN SPECIAL APPLICATIONS ONLY.

NOTE F: GROUND WIRE (ITEM #26) SHALL BE INSTALLED ALONG THE ENTIRE LENGTH OF THE CROSSARM,
CONTINUOUS FROM CONNECTIONS LOCATED AT EITHER END.

NOTE G: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA
WHERE THIS STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE
CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE

DRAWING.

CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
C*M-TNS5HTDKF-B-H (3)-477 ACSR 18/1 (1) - 7#7 (7/16™) AWLD TS-N1T3-B TP-W-XD-G-H
C*M-TNSHTDKF-B-O (3)- 477 ACSR 18/1 (1) - 36 FIBER OPGW TS-N1T3-B TO-W-XD-G-O
C*M-TNSHTDKF-B-S | (3)-477 ACSR 18/1 |(1)-36 FIBER SPEC. OPGW TS-N1T3-B TO-W-XD-G-S
C*M-TNS5HTDKF-X-H (3) - 795 ACSR 26/7 (1) - 7#7 (7/16™) AWLD TS-N1T3-X TP-W-XD-G-H
C*M-TN5HTDKF-X-O (3) - 795 ACSR 26/7 (1) - 36 FIBER OPGW TS-N1T3-X TO-W-XD-G-O
C*M-TNSHTDKE-X-S (3) - 795 ACSR 26/7 |(1)- 36 FIBER SPEC. OPGW TS-N1T3-X TO-W-XD-G-S

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: NTS

f TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

?& CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS TERMINAL DEADEND RISER STRUCTURE DATE
USA MANUAL TYPE DRS 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin [10/29/2013 Becken/Hart 22015 | Bary R Fart 5erz015| 1 M2.23. TN-SHTDK-X | Sheet2




70"

70"

3-0"

etail B

®
0

Detail A

SEE PLAN & PROFILE FOR
"TO" OR "TP" STATIC

L

A N~

;
b

A

/1l

@

/

ATTACHMENT

6 INSULATORS
PER STRING

> OR
S\ C*CT-TI-9Y-P3-D
\. REFERTO
) "TS" SECTION
FOR

/ CONDUCTOR
SPECIFY

® ¢

U

POLE GROUNDING
USE TG-02-002

b

¢ OF TRANSMISSION LINE

-

b

P

20"

REFER TO

TYPICAL
BETWEEN
CLIPS

"TH" AND "TR"
SECTIONS FOR
GUYING AND
ANCHOR DETAILS

USE INSULATED 20M
ASSEMBLIES ‘
TR-01-X

A

@5\@\8

@ OF TRANSMISSION LINE

QAD 43 15) (3
20 10
2 15 3
- @ 11
0 22 ° 20\
5 )26 N

Plan View

Detail 'C'

LIGHTNING ARRESTER GROUNDING

2
EOOOO
“ees

Detail 'C'

CABLE TERMINATOR GROUNDING

L\

A AN
NN N
AR ™

ﬁ AN AN
i \\\ . .

\,

N\

N\

N,

\,
\,

o

\
\\\
\

\\\

\
\\
\ \
\ \ .
Ef—y \\ N
A.Oo \\
AS

~ ¢ OF TRANSMISSION LNEQ

Guying Plan

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: NTS

Detail 'B'

TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION
1; . CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS TERMINAL DEADEND RISER STRUCTURE WITHOUT SWITCH DATE
USA MANUAL TYPE DRSB 5/21/2015
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
B. Franklin [10/29/2013 Becken/Hart 2/12/2015| Barry R. Hart | 5/18/2015 TM2.23. TN-5HTRK-X| Sheet1




BILL OF MATERIAL (CU Type: POLE)

IUSA

BILL OF MATERIAL (CU Type: LTNG ARRESTER

ITEM
NO.

IUSA

QTY. | UOM ID

CU: C*CT-TU-AR5-E

44

3 EA 11088500135 |INT CLASS LTNG ARRSTR, 36KV

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
C*M-TNGHTRKE-B-H | (3) - 477 ACSR 18/1 | (1) - 7#7 (7/16") AWLD TS-NIT1-B TP-W-XD-G-H
C*M-TNSHTRKF-B-O | (3)-477 ACSR 18/1 | (1) - 36 FIBER OPGW TS-N1TL-B TO-W-XD-G-O
C*M-TN5SHTRKF-B-S (3)- 477 ACSR 18/1 |(1)-36 FIBER SPEC. OPGW TS-N1T1-B TO-W-XD-G-S
C*M-TNSHTRKE-X-H | (3) - 795 ACSR 26/7 | (1) - 7#7 (7/16") AWLD TS-NIT1-X TP-W-XD-G-H
C*M-TNSHTRKFE-X-O | (3) - 795 ACSR 26/7 | (1) - 36 FIBER OPGW TS-NIT1-X TO-W-XD-G-O
C*M-TNSHTRKF-X-S | (3) - 795 ACSR 26/7 | (1) - 36 FIBER SPEC. OPGW TS-N1T1-X TO-W-XD-G-S

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 35kV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*_).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:
D FOUNDATION & BACKFILL

TG

TH GUYING ASSEMBLIES
TK MARKINGS
TR GUY ANCHORS

SWITCH MAT, GROUND WIRE & GROUND ROD DETAILS

NOTE B: POLE DRILLING:

5/8" BOLT - 11/16" DIAMETER HOLE
3/4" BOLT - 13/16" DIAMETER HOLE
7/8" BOLT - 15/16" DIAMETER HOLE

NOTE C: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE
POLE USED. SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE
LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE D: CONDUCTOR TENSION TO THIS STRUCTURE SHALL NOT EXCEED 3000 POUNDS AT NESC HEAVY

LOAD.

NOTE E: THIS STRUCTURE IS TO BE USED IN SPECIAL APPLICATIONS ONLY.

NOTE F: GROUND WIRE (ITEM #26) SHALL BE INSTALLED ALONG THE ENTIRE LENGTH OF THE CROSSARM,
CONTINUOUS FROM CONNECTIONS LOCATED AT EITHER END.

NOTE G: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA
WHERE THIS STRUCTURE IS INSTALLED DO NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE
CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND PROFILE

DRAWING.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: NTS

nor | orv. uom | R CU: C*PT-TN-5HTRK

1 8 EA [1000910500 |[NUT LCK MF SQ 1/2 BOLT GALV

2 7 EA (1000910600 |NUT LCK MF SQ 5/8 BOLT GALV

3 12 EA |1000910800 [NUT LCK MF SQ 7/8 BOLT GALV

4 2 EA [1000911700 |NUT SQ 5/8 BOLT GALV

5 5 EA [6000273770 |NUT SQ 7/8 BOLT GALV

6 8 EA | 6000272053 |BOLT SQ HEAD 1/2 X 7 W/ SQ NUT (NOTE C)

7 3 EA |1035473026 |[BOLT SQ HEAD 5/8 X 26 W/ SQ NUT (NOTE C)

8 2 EA 191868 BOLT DA 5/8 X 20 W/ 4 NUTS (NOTE C)

9 2 EA [1035475016 [BOLT SQ HEAD 7/8 X 16 W/ SQ NUT (NOTE C)

10 4 EA 11035475022 |[BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE C)

11 6 EA |6000272460 |BOLT DA 7/8 X 26 W/ 4 NUTS (NOTE C)

12 3 EA [1007420850 |SCRLAG 1/2X 3

13 8 EA |6000274590 | WASHER HELICAL (1/2"

14 7 EA |6000274600 | WASHER HELICAL (5/8"

15 | 18 [ EA [ 6000274612 | WASHER HELICAL (7/8")

16 8 EA |6000274808 | WASHER 2" FLAT ROUND (1/2")

17 16 | EA [1000946500 | WASHER 4" SQ. ROUND (7/8")

18 3 EA [6000274821 | WASHER 4" SQ. CURVED (5/8")

19 2 EA |6000274880 | WASHER 4" SQ. CURVED (7/8")

20 5 EA | 6000274040 |PLT POLE EYE 15/16 H

21 2 EA | 6000274505 |DEAD END TEE, 60K

22 4 EA 11036470025 |GRID, TMBR CNCTR, 4-1/8 SQ 15/16 H

23 4 EA | 6000740330 | CROSSARM BRACES WOOD, 35" LONG (1 PAIR)

24 1 EA | 6000820052 | POLE TOPPER 19"

BILL OF MATERIAL (CU Type: SHLDO)

No | @ Juom| OO CU: C*CT-TN-5HTRK
25 2 EA 11036200005 | CLMP GRND WIRE U-CLIP 11/16 H

26 5 EA 11036200007 | CLMP GRND WIRE U-CLIP 15/16 H

27 4 EA 11036232100 | CONN 1B W/SPCR

28 10 EA 16000113592 | CONN 2B GRD BRZ

29 6 EA 6000620100 |EQUIPMENT MTG CLMP

30 3 EA | 6000620090 | CABLE MTG BRCKT

31 3 EA (6000312878 | WILDLIFE PROTECTOR

32 3 EA 6000215945 [ CABLE TERM SIL RUBBER COLD SHRINK

33 6 EA 6000230560 | CONDUIT 6" X 10'-0" GALVANIZED

34 2 EA 90459 ELBOW RIGID CONDUIT 6" GALVANIZED

35 6 EA X COUPLING RIGID CONDUIT 6" GALVANIZED

36 3 EA |6000620110 | STANDOFF BRCKT F/ (2) 6" RIGID CONDUIT

37 6 EA 16000620120 | STRAP SS F/ 6" RIGID CONDUIT

38 6 EA |[6000251050 | CLMP GRD F/ 6" RIGID CONDUIT

39 1 EA | 6000221535 |GRIP RISER F/ 6" RIGID CONDUIT

40 1 EA 16000234260 | CAP GALV F/ 6" RIGID CONDUIT

BILL OF MATERIAL (CU Type: XARM)
No | e Juom | TS CU: C*PT-TT-9F-C-BB12
41 [2 CUs | EA [6000740560 [ DOUBLE CROSSARM FIBERGLASS, 2 PIN 4-3/4" X 5-3/4" X 12FT
No. | v uom| OO CU: C*PT-TT-5F-M-BB12
42 |2 CUs | EA |6000740580 | SINGLE CROSSARM FIBERGLASS, 4" X 6" X 12FT
BILL OF MATERIAL (CU Type: INSO)

Moo | Q. uom| CU: C*CT-TI-9P-D3-6
43 |3 CUs | EA | 6000310739 |INS SUS CL52-3 20K M&E BRN (6 UNITS/STRING)
No | e Juom | TS CU: C*CT-TI-9Y-P3-D
43 |3 CUs | EA | 6000316439 |INS POLY Y-BALL 30K 6 UNIT EQ.

TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

?& CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS TERMINAL DEADEND RISER STRUCTURE WITHOUT SWITCH DATE
USA MANUAL TYPE DRSB 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin|10/29/2013 Becken/Hart 2127015 | Barry R Hart [ 5eiots| | M2.23. TN-5HTRK-X| Sheet2




* SQUARE
NUT

SUPPLIED
WITH ©

79"

2|_0|l
TYPICAL
BETWEEN

CLIPS_,

|
|
L

REFER TO PLAN &

CONDUCTOR
SPECIFY

GROUND LINE

| WSP/A\
|

| POLE GROUNDING

| USE TG-02-002

PROFILE FOR "TO" OR "TP"
STATIC ATTACHMENT

CU Function: BILL OF MATERIAL Type of CU: POLE
TL69 for 35kV & 46kV, ITEM NYSEG CMP . *
TG69 for 69KV thru 344Ky, | No. | T | YoM MID MID CU: C*PT-TN-XS-BP
T345 for 345kV & greater. 1 6 EA | 1000910700 NUT LCK MF SQ 3/4 BOLT GALV
2 6 EA [1000910800 | 6000273690 |[NUT LCK MF SQ 7/8 BOLT GALV
For correct CU: 3 6 EA [1000911800 NUT SQ 3/4 BOLT GALV
substitute 5 for NYSEG, 4 6 EA [1000911900 [ 6000273770 [ NUT SQ 7/8 BOLT GALV
6 for CMP or 9 for RG&E 5 6 EA |[1000943500 - WSHR CRV 3 SQ X 1/4 THK 13/16 H
in place of asterisk (C* ). 6 6 EA [1000943700 - WSHR CRV 4 SQ X 3/8 THK 15/16 H
7 1 EA [1010177500 | 6000820050 [ POLE TOPPER 16 IN DIA
8 2 EA 192295 BOLT MACH GALV SQHD SQNT 3/4 X 14
9 2 EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
10 2 EA 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
11 1 EA [1035475014 [ 6000272350 | BOLT MACH GALV SQHD SQNT 7/8 X 14
12 1 EA [1035475016 | 6000272360 |BOLT MACH GALV SQHD SQNT 7/8 X 16
13 1 EA [1035475018 | 6000272370 |BOLT MACH GALV SQHD SQNT 7/8 X 18
14 1 EA [1035475020 | 6000272380 |[BOLT MACH GALV SQHD SQNT 7/8 X 20
15 1 EA 1035475022 [ 6000272390 |[BOLT MACH GALV SQHD SQNT 7/8 X 22
NOTE A: OTHER STANDARD DRAWINGS REQUIRED: 16 1 EA 1035475024 | 6000272400 | BOLT MACH GALV SQHD SQNT 7/8 X 24
TG-02 POLE GROUNDING 17 6 EA |[1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
TD-03-001 ~ FOUNDATION/BACKFILL DETAIL CLASS 1 OR SMALLER 18 6 EA [1036200007 | 6000251031 CLMP GRND WIRE U-CLIP 15/16 H
TD-03-002 FOUNDATION/BACKFILL DETAIL CLASS H POLES 19 6 EA 6000274040 |PLT POLE SGL EYE - 15/16 H
20 6 EA 6000274610 | WSHR HELICAL 3/4
NOTE B: POLE DRILLING: FOR 3/4"BOLTS - 13/16" (POST INSULATOR)
BILL OF MATERIAL Type of CU: INSO
'LEO“_" Qry. | UOM NI,.S.EG ‘ﬁ,.“.".;? CU: C*CT-TI-4Y-BP
25 [3CUs | EA X INS L/P 46KV H BRACED G/B POLYMER
IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE
USED INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Conductor . Static
CU Macro | Conductor | “specify Static Specify
C5M-TN5SBPGS-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5SBPGS-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5SBPGS-X-0 (3) - 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5SBPGS-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - 7#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5SBPGS-B-H (3) - 477 ACSR 18/1 TS-B1A1-B (1) - 7T#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5SBPGS-X-H (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7T#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5SBPGX-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O
C5M-TN5SBPGX-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O
C5M-TN5SBPGX-X-O (3) - 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O
C5M-TN5SBPGX-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - 7T#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5SBPGX-B-H (3) - 477 ACSR 18/1 TS-B1A1-B (1) - 7T#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5SBPGX-X-H (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7#7 (7/16") AWLD TP-W-TS-G-H

FOR ALL MACRO CUs: (Type of CU: STRU)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" =1'-0"
IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
s ggﬁg_ﬁ%ﬁ%ﬁ 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS TANGENT BRACED POST DATE
USA MANUAL TM.2.23 I 12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]Date App.:
L.A. Best | 8/23/2013 | Bartczak/Becken/Shepard | / /2013 | Barry R. Hart | / /2013 TN'5SBP Sheet 1




-~

N~

N

-~

N~

THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

77\
]
\—/

[
\

ANSI B
11" XA17"

| ® A 4—| CU Function: TL69 for 35kV & 46k, BILL OF MATERIAL Type of CU: XARM
z ] }/. TG69 for 69KV through 344kV, T345 for 345kV and greater.
© — SEE PLAN & PROFILE - J g No. | QTY |UOM| 1USAMID CU: C*PT-TT-9W-X-AAQ07
f FOR "TO" OR "TP" For correct CU: substitute 5 for NYSEG, 1 |2 CUs | EA [1004015020 | ARM WXRM 3-3/4X4-3/4X7F 04DG02A
STATIC ATTACHMENT 6 for CMP or 9 for RG&E in place of asterisk (C*_).
. i BILL OF MATERIAL Type of CU: XARM
5 NOTE A: OTHER STANDARD DRAWINGS REQUIRED: TEM —
~ 7.0 TG-02-002 POLE GROUNDING no. | QTY |UOM| IUSAMID CU: C*PT-TT-9W-X-AA10
31 ] 5" USE TD-03-001 FOUNDATION/BACKFILL DETAIL 2 |2 Ccus| EA [1004016020 | ARM WXRM 3-3/4X4-3/4X10F 04DG31A
| TS-PaAx - CLASS 1 OR SMALLER
=N é@ FOR T ~ TD-03-002 FOéJLI\AEégTLO;\IéBLé(S:KFILL DETAIL BILL OF MATERIAL Type of CU: POLE
! CONDUCTOR -
% (D "oy 2 70 "] ary Juom| 1usAmID CU: C*PT-TN-XS-CDE
o) . 1 NOTE B: POLE DRILLING: 3 | _8 | EA [1000910500 |NUT LOCK M-F SQ 1/2 BOLT
00200 < CROSSARM HOLE - 13/16"; BRACE HOLE - 11/16" 4 | 18 | EA [1000910600 |NUT LOCK M-F SQ 5/8 BOLT
19 5 2 | EA [1000910700 [NUT LOCK M-F SQ 3/4 BOLT
(@) noteD 4 3 NOTE C: TO LOCATE THIS HOLE, BOLT ONE END OF NON- 6 2 | EA [1000911700 [NUT SQ FOR 5/8 BOLT
A ADJUSTABLE BRACE (ITEM 18) TO BOTTOM OF LEVEL 7 16| EA [1000912500 | NUT WSHR 3 DIA FOR 5/8 BOLT
F7 Tl s 22 . CROSSARM, POSITION BRACES AGAINST CENTER OF 8 2 | EA [1000912600 | NUT WSHR 3 DIA FOR 3/4 BOLT
— | POLE AND MARK POLE FOR DRILLING AT HOLE 9 4 | EA [1005250040 | GRID GAIN 15/16 HOLE 4-1/8 X 6-3/4 S-BE
26 %/@ =20 2 IN END PLATE. 10 [ 1 [ EA [6000820052 | TOPPER POLE PROTECT POLE TOP 19 IN DIA
A s 12 2 11 2 | EA| 191876 | BOLT DBL/ARM GALV 4 SQNT 5/8X22
a * NOTE D: TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES & 12| 2 [ EA| 751114 | BOLT DBL/ARM GALV 4 SQNT 5/8X24
N00200 \ ) (5) (8 2 OTHER REQUIRED HARDWARE. HAND TIGHTEN TO 13 1 EA | 192155 |BOLT SQHD GALV SQNT 5/8 X 14
5 () (7). A 4_] » INSURE FIT. USE HYDRAULIC TOOLS TO SET GRIDS 14 1 EA | 192163 |BOLT SQHD GALV SQNT 5/8 X 16
z (5)X(* X23(20(8 17) % (18) 22) 2 PROPERLY. 15 | 8 | EA [1035532006 |BOLT WSHRHD GALV SQNT 1/2 X 6
—(2)NOTE D © 14 16 | 1 | EA [1035534022 [BOLT WSHRHD GALV SQNT 3/4 X 22
002000, (9 6 @) NOTE E: LONGER OR SHORTER BOLTS MAY BE REQUIRED 17 1 EA | 355-340-24 |BOLT WSHRHD GALV SQNT 3/4 X 24
. 22 DEPENDING ON THE ACTUAL SIZE OF THE POLEUSED. | 18 | 4 | PR [1035950604 | BRC WD NON-ADJ C-C 42.43 HB2017/BM411
SUBSTITUTE SAP MATERIAL ID FOR THE LENGTH 19 | 2 | EA [1036200005 | CLAMP GRND WIRE U-CLIP 11/16 IN HOLE
NEEDED. CONTACT ENGINEERING STANDARDS - 20 | 2 | EA [1036200006 | CLAMP GRND WIRE U-CLIP 13/16 IN HOLE
47 - TRANSMISSION FOR ASSISTANCE IN CHOOSING 21| 4 | EA [1036470025 | GRID GAIN 15/16 HOLE 4-1/8 SQ S-1E
) = 2 MATERIAL ID. 22 | 10 | EA [6000274600 | WSHR LCK 2 TURN SPR GALV 5/8
Lo 23 | 2 | EA [6000274610 | WSHR LCK 2 TURN SPR GALV 3/4
o = E O _ IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE
USED INSTEAD OF INDIVIDUAL CU COMPONENTS IC::OR SASI’[E OF WORK ORDER ENTRY. - BILL OF MATERIAL Type of CU: INSO
onductor . atic =T —
| CU Macro | Conductor Specify Static Specify EMIQTY [UOM| IUSA MID CU: C*CT-TI-5P-V2 (6/STR)
C5M-TNSSCDES-3-0 | (3)- 4/0 AAAC 7 TS-B1A1-3 | (1)- Std 36 Fiber OPGW | TO-W-TS-G-O %6 T T 1A 1035469027 | BOLT STUD POST INSUL /4 X T TO 7-112
| C5M-TN5SCDES-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5SCDES-X-O | (3)-795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5SCDES-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - T#7 (7/16") AWLD | TP-W-TS-G-H
T C5M-TN5SCDES-B-H (3) - 477 ACSR 18/1 TS-B1A1-B | (1)-7#7 (7/16")AWLD | TP-W-TS-G-H
C5M-TN5SCDES-X-H (3) - 795 ACSR 26/7 TS-B1A1-X | (1)-7#7 (7/16"YAWLD | TP-W-TS-G-H DOUBLE ARMING
- C5M-TN5SCDEX-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O BOLT DETAIL
C5M-TN5SCDEX-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O "A - A"
C5M-TN5SCDEX-X-O (3) - 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O Scale: 1/2" =1'-0"
C5M-TN5SCDEX-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - T#7 (7/16"Y AWLD | TP-W-UD-G-H
C5M-TN5SCDEX-B-H (3) - 477 ACSR 18/1 TS-B1A1-B | (1)-7#7 (7/16")AWLD | TP-W-UD-G-H *(SQ NUT SUPPLIED
GROUND LINE 7 C5M-TN5SCDEX-X-H (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7T#7 (7/16") AWLD | TP-W-UD-G-H WITH BOLT)
| | [ R FOR ALL MACRO CUs:
| = | (Type of CU: STRU)
|| Contact Engineering Standards - Transmission for the creation of new standards and CUs. Drawing Scale: 1/4" = 1'-0"
POLE GROUNDING: : : IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
USETG02002 | | o ggﬁg‘?g"&%ﬂ%’:l 35kV SINGLE POLE SINGLE CIRCUIT 0
] IBERDROLA STANDARDS PORCELAIN VERTICAL POST INSULATORS DATE
L] USA MANUAL TM2.23.00 DOUBLE WOOD CROSSARMS - (2) 7' AND (2) 10' / 12014
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: |Date App.:
L.A. Best | 6/24/2013 Shepard/Becken/Hart / 12014 Barry R. Hart / 12014 TN'5SCD E Sheet 1




-~

N~

N

-~

N~

THIS IS A COMPUTER GENERATED
DRAWING - DO NOT REVISE MANUALLY

77\
]
\—/

[
\

ANSI B
11" XA17"

‘ C A <_I BILL OF MATERIAL Type of CU: XARM
> SEE PLAN & PROFILE - NOEE:;ER STANDARD DRAWINGS REQUIRED: No' | QTY |UOM/| IUSAMID CU: C*PT-TT-9W-X-AAQ7
f FOR "TO" OR "TP" 16.02.002  POLE GROUNDING ‘ 1 | 1CU | EA [1004015020 | ARM WXRM 3-3/4X4-3/4X7F 04DG02A
STATIC ATTACHMENT TMet
TD-03-001 FOUNDATION/BACKFILL DETAIL
] - CLASS 1 OR SMALLER BILL OF MATERIAL Type of CU: XARM
5 -03-
5" USE 2 | 1CU | EA [1004016020 | ARM WXRM 3-3/4X4-3/4X10F 04DG31A
TS-P1A1-x NOTE B: POLE DRILLING:
L (29) FOR ) CROSSARM HOLE - 13/16"; BRACE HOLE - 11/16" BILL OF MATERIAL Type of CU: POLE
CONDUCTOR ITEM .
1 O (9 NOTE C: TO LOCATE THIS HOLE, BOLT ONE END OF NON- no. | QTY |UOM| IUSA MID CU: C*PT-TN-XS-CSE
ADJUSTABLE BRACE (ITEM 9) TO BOTTOM OF LEVEL 3 4 EA |1000910500 |NUT LOCK M-F SQ 1/2 BOLT
CROSSARM, POSITION BRACES AGAINST CENTER OF 4 2 EA 1000910600 |NUT LOCK M-F SQ 5/8 BOLT
@ POLE AND MARK POLE FOR DRILLING AT HOLE 5 2 EA [1000910700 |NUT LOCK M-F SQ 3/4 BOLT
5 ED e @ IN END PLATE. 6 2 EA |[1000911700 [NUT SQ FOR 5/8 BOLT
© > (20) 7 2 | EA [1000911800 [NUT SQ FOR 3/4 BOLT
- 31 5" NOTE D: TO SEAT SPIKE GRIDS, ASSEMBLE ARMS, BRACES & 8 4 EA [6000274870 | WSHR CRVD CAST 4 SQ 7/16 THK 13/16 HOLE
e - OTHER REQUIRED HARDWARE. HAND TIGHTEN TO 9 2 EA 1000946000 | WSHR FLAT 2-1/4 SQ 3/16 THK 13/16 HOLE
@—% (15) D) (8) INSURE FIT. USE HYDRAULIC TOOLS TO SET GRIDS 10 | _2 | EA [1005250040 | GRID GAIN 15/16 HOLE 4-1/8 X 6-3/4 S-BE
g I I——@ @ PROPERLY. 11 1 EA | 6000820052 | TOPPER POLE PROTECT POLE TOP 19 IN DIA
a v\. 12 1 EA | 192155 |BOLT SQHD GALV SQNT 5/8 X 14
L (%) (16) @) NOTE E: LONGER OR SHORTER BOLTS MAY BE REQUIRED 13| 1 |EA| 192163 [BOLT SQHD GALV SQNT 5/8 X 16
o G3) @ @ (8) DEPENDING ON THE ACTUAL SIZE OF THE POLE USED. 141 1 [EA| 192325 |BOLT SQHD GALV SQNT 3/4 X 18
< N SUBSTITUTE SAP MATERIAL ID FOR THE LENGTHNEEDED. | 191 1 | EA | 192333 |BOLT SQHD GALV SQNT 3/4 X 20
o@@@g@ ‘@ NOTE D @ CONTACT ENGINEERING STANDARDS - TRANSMISSION 16 4 EA |1035532006 | BOLT WSHRHD GALV SQNT 1/2 X 6
18 | 2 | EA [1036200005 | CLAMP GRND WIRE U-CLIP 11/16 IN HOLE
19 | 2 | EA [1036200006 | CLAMP GRND WIRE U-CLIP 13/16 IN HOLE
20 | 2 | EA [1036470025 | GRID GAIN 15/16 HOLE 4-1/8 SQ S-1E
a2 21| 2 | EA |6000274600 | WSHR LCK 2 TURN SPR GALV 5/8
=S B @ 22 | 2 | EA [6000274610 | WSHR LCK 2 TURN SPR GALV 3/4
NEED .
o IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE BILL OF MATERIAL Type of CU: INSO
USED INSTEAD OF INDIVIDUAL CU COMPONENTS gOR sASItE OF WORK ORDER ENTRY. - TN Q7Y [UoM| 1USA MID CU: C*CT-TI-5P-V2 (3/STR)
onductor : atic 25 | 1 | EA [1005543510 | INSUL CLMPT VERT 35kV 3/4 STUD GRY
CU Macro Conductor Specify Static Specify 26 | 1 | EA [1035469027 | BOLT STUD POST INSUL 3/4 X 7 TO 7-1/2
C5M-TN5SCSES-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1)- Std 36 Fiber OPGW | TO-W-TS-G-O CU Function: TL69 for 35kV & 46kV, TG69 for 69kV thru 344KV, T345 for 345kV & greater.
C5M-TN5SCSES-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O _ , _ .
C5M-TN5SCSES-X-0 (3) - 795 ACSR 26/7 TSBIAIX (1) - Std 36 Fiber OPGW | TO-W-TS.G-O For correct CU: substitute 5 for NYSEG, 6 for CMP or 9 for RG&E in place of asterisk (C*_).
C5M-TN5SCSES-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - 7T#7 (7/16") AWLD | TP-W-TS-G-H
C5M-TN5SCSES-B-H (3) - 477 ACSR 18/1 TS-B1A1-B | (1)-7#7 (7/16")AWLD | TP-W-TS-G-H
C5M-TN5SCSES-X-H (3) - 795 ACSR 26/7 TS-B1A1-X | (1)-7#7 (7/16")AWLD | TP-W-TS-G-H
C5M-TN5SCSEX-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5SCSEX-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5SSCSEX-X-O | (3)- 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5SCSEX-3-H (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - T#7 (7/16"Y AWLD | TP-W-UD-G-H
C5M-TN5SCSEX-B-H (3) - 477 ACSR 18/1 TS-B1A1-B | (1)-7#7 (7/16")AWLD | TP-W-UD-G-H
GROUND LINE C5M-TN5SCSEX-X-H (3) - 795 ACSR 26/7 TS-B1A1-X | (1)-7#7 (7/16"Y AWLD | TP-W-UD-G-H
mﬁ EW RA\
4] FOR ALL MACRO CUs: (Type of CU: STRU)
|| Contact Engineering Standards - Transmission for the creation of new standards and CUs. Drawing Scale: 1/4" = 1'-0"
POLE GROUNDING: : : IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
USETG02002 | | o ggﬁg‘?g"&%ﬂ%’:l 35kV SINGLE POLE SINGLE CIRCUIT 0
] IBERDROLA STANDARDS PORCELAIN VERTICAL POST INSULATORS DATE
L] USA MANUAL TM2.23.00 SINGLE WOOD CROSSARMS - (1) 7" AND (1) 10' / 12014
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: |Date App.:
L.A. Best | 6/24/2013 Shepard/Becken/Hart / 12014 Barry R. Hart / 12014 TN'5SCSE Sheet 1




79"

40"

‘ Q) CU Function: BILL OF MATERIAL Type of CU: POLE
> TL69 for 35kV & 46kV, ITEM NYSEG CMP . *
T T  REFERTOPLAN TG69 for 69KV thru 344ky, | No. | 9T | UOM MID MID CU: C"PT-TN-XS-TPE
&“PR?FILE" F?R T345 for 345kV & greater. 1 6 EA | 1000910700 NUT LCK MF SQ 3/4 BOLT GALV
TO" OR "TP 2 6 EA [1000911800 NUT SQ 3/4 BOLT GALV
STATIC For correct CU- 3 6 EA | 1000943500 WSHR CRV 3 SQ X 1/4 THK 13/16 H
* ATTACHMENT '
SQUARE substitute 5 for NYSEG, 4 1 EA [ 1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
NUT 6 for CMP or 9 for RG&E 5 2 EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
SUPPLIED - - . 6 2 EA 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
in place of asterisk (C*_).
WITH 7 2 EA 192333 BOLT MACH GALV SQHD SQNT 3/4 X 20
BOLT 8 6 EA [1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
USE TS-P1A1-* 9 6 EA 6000274610 | WSHR HELICAL 3/4
ag@e“ee FOR CONDUCTOR
= \] “mg SPECIFY BILL OF MATERIAL Type of CU: INSO
- ITEM NYSEG CMP ] *
NOTE A: OTHER STANDARD DRAWINGS REQUIRED: no. | 9TV | UOM MID MID CU: C*CT-TI-5P-HC
TG-02-002  POLE GROUNDING 15 |3 CUs | EA [1005553510 INS L/P 35KV H G/B CLMPT PORCELAIN

TD-03-001  FOUNDATION/BACKFILL DETAIL CLASS 1 OR SMALLER
TD-03-002 FOUNDATION/BACKFILL DETAIL CLASS H POLES

40"

Wf : eecegen NOTE B: POLE DRILLING: FOR 3/4" BOLTS - 13/16" (POST INSULATOR)

10|

080600600

] N

- Z T
) é u”;j % IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE
o > E O__ USED INSTEAD OF INDIVIDUAL CU COMPONENTSE:OR cIjASItE OF WORK ORDER ENTRY. —
onductor . atic
CU Macro | Conductor | “specity Static Specify
C5M-TN5STPES-3-0 (3)-4/0 AAAC 7 TS-B1A1-3 (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5STPES-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5STPES-X-O (3)- 795 ACSR 26/7 TS-B1A1-X (1) - Std 36 Fiber OPGW | TO-W-TS-G-O
C5M-TN5STPES-3-H (3)-4/0 AAAC 7 TS-B1A1-3 (1) - 7#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5STPES-B-H (3) - 477 ACSR 18/1 TS-B1A1-B (1) - 7#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5STPES-X-H (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7#7 (7/16") AWLD TP-W-TS-G-H
C5M-TN5STPEX-3-0 (3)-4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5STPEX-B-O (3)-477 ACSR 18/1 TS-B1A1-B (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5STPEX-X-O (3) - 795 ACSR 26/7 TS-B1A1-X (1) - Std 36 Fiber OPGW | TO-W-UD-G-O
C5M-TN5STPEX-3-H (3)-4/0 AAAC 7 TS-B1A1-3 (1) - 7#7 (7/16") AWLD TP-W-UD-G-H
C5M-TN5STPEX-B-H (3)-477 ACSR 18/1 TS-B1A1-B (1) - 7#7 (7/16") AWLD TP-W-UD-G-H
C5M-TN5STPEX-X-H (3)- 795 ACSR 26/7 TS-B1A1-X (1) - 7#7 (7/16") AWLD TP-W-UD-G-H
GROUND LINE FOR ALL MACRO CUs: (Type of CU: STRU)
TR | TR
| THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
| : USE GROUNDING Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" =1'-0"
|| DETAIL TG-02-002 I?Eiﬁga:_éo\s?osﬁ TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
| 8 CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 0
| IBERDROLA STANDARDS TANGENT - STAGGERED HORIZONTAL POSTS DATE
B | T | SORCRLAN CooT MU AToRs - OURED G wse | /o0
- - L.A. éBegt- 6/24/201-:.’: Bartczak/Becken/é-hepard / /2011.3- ler)ry R. I-.la?‘,t- % / /20?:)3" TN'5STPE Sheet 1




@ SEE PLAN & PROFILE FOR
"TO" OR "TP" STATIC
OHGWI/OPGW ATTACHMENT

BILL OF MATERIAL (CU Type: POLE)

No. | Qrv. | vom i CU: C*PT-TN-XSTS

1| 6 |EA 1000910800 [NUT LCK MF SQ 7/8 BOLT GALV

2 | 2 | EA 1035475024 |BOLT SQ HEAD 7/8 X 24 W/ SQ NUT (NOTE C)

3 | 2 |EA 1035475026 [BOLT SQ HEAD 7/8 X 26 W/ SQ NUT (NOTE C)

4 | 2 | EA [1035475028 [BOLT SQ HEAD 7/8 X 28 W/ SQ NUT (NOTE C)

5 | 6 | EA [6000274612 | WASHER HELICAL (7/8")

6 6 EA 6000274880 | WASHER 4" SQ CURVED (7/8")

7 6 EA 1000946500 | WASHER 4" SQ FLAT (7/8")

8 | 1 | EA [6000820052POLE TOPPER 19"

BILL OF MATERIAL (CU Type: DAVIT ARM)
TET orv. Juom| Ve CU: C*PT-TT-9S-D-2Z84
9 | 2 | EA [6000617074| ARM DAVIT STEEL 46"
BILL OF MATERIAL (CU Type: DAVIT ARM)
S o Joow| CU: C*PT-TT-9S-D-7787
10 | 1 | EA 6000617058  ARM DAVIT STEEL 66"
BILL OF MATERIAL (CU Type: INSO)

Mol | orv. |uom | oA CU: C*CT-TI-9P-D3-4
11 [3CUs | EA |6000310739 |[INS SUS CL52-3 20K M&E BRN (4 UNITS/STRING)
No | om fuom| P CU: C*CT-TI-9Y-P3-B
11| 3 | EA [6000314539[INS POLY Y-BALL 30K 4 UNIT EQ.

USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.

CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
C*M-TN5STSA-B-H (3)-477 ACSR 18/1 | (1) - 7#7 (7/16") AWLD TS-S1A1-B TP-W-TS-G-H
C*M-TN5STSA-B-O (3) - 477 ACSR 18/1 | (1) - 36 FIBER OPGW TS-S1A1-B TO-W-TS-G-O
C*M-TN5STSA-B-S (3)-477 ACSR 18/1 |(1)-36 FIBER SPEC. OPGW TS-S1A1-B TO-W-TS-G-S
C*M-TN5STSA-X-H (3) - 795 ACSR 26/7 | (1) - 7#7 (7/16") AWLD TS-S1A1-X TP-W-TS-G-H
C*M-TN5STSA-X-O (3) - 795 ACSR 26/7 (1) - 36 FIBER OPGW TS-S1A1-X TO-W-TS-G-O
C*M-TN5STSA-X-S (3) - 795 ACSR 26/7 |(1)- 36 FIBER SPEC. OPGW TS-S1A1-X TO-W-TS-G-S

T
ATTACHMENT ——~ |l
POINT 5
<
By [
©
©
Detail A N
7<=
\
e o
- REFER TO g
“TT" SECTION
FOR DAVIT 46" Detail ‘A’
ARMS 1 E—
b ®
REFER TO ) Detail B
"TS" SECTION | & ®
FOR .
&| CONDUCTOR 096@0
® SPECIFY 5
i
Detail C
T o
frl) /
— \ ‘
DEEED & 5
PER STRING
OR z Detail 'B'
C*CT-TI-9Y-P3-B o S
~
©
~N
=z
3 Ho
soda
JEE
> O
Fm
POLE GROUNDING g
USE TG-02-003-4 ®
G OF TRANSMISSION LINE
<
Detail 'C'

CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69kV THRU 344KV, T345 FOR 345KV & GREATER.
FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*.).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:
TD FOUNDATION & BACKFILL
TG GROUND WIRE & GROUND ROD DETAIL
TK MARKINGS

NOTE B: POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED.
SUBSTITUTE MATERIAL ID (MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN
THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS. CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION
IF YOU NEED ASSISTANCE.

NOTE D: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

& TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

ﬁfﬂt & CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS TANGENT STRUCTURE - SUSPENSION INSULATORS DATE
USA MANUAL TYPE BN-TS 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin| 3/12/2013 Becken/Hart 3/05/2015| Barry R. Hart | 5/18/2015 TM2 23TN'SSTSA'X Sheet 1




79"

/

5

-

* SQUARE
NUT
SUPPLIED
WITH
BOLT

70"

QO LTEOO0

g}

-

70"

QO LTEOOO

10"

-

;

10"

d

REFER TO PLAN
& PROFILE
FOR"TR" GUYING <
ASSEMBLIES
& "TH" ANCHOR
ASSEMBLIES

TYPICALLY USES
20M GUYING
ASSEMBLIES

TR-01-X

o

o
TYPICAL

BETWEEN
CLIPS

AN
AN

GROUND LINE

T 1@

|
|
|
|
|
(-

REFER TO PLAN
& PROFILE FOR
"TOVI OR IlTP"
STATIC
ATTACHMENT

USE
TS-P1A1-*
FOR
CONDUCTOR
SPECIFY

w|

Z

|

=

©)

()]

w

S

o

Z|

<

o

—|  SEE
PLAN

&
PROFILE

s

SEE GROUNDING
DETAIL TG-02-002

|
|
|
|
|
|
|
.|

S Cb

Typical Guying & Anchoring

C*PT-TR-01-T-02-B
C*PT-TH-01-001-AB

CU Function: BILL OF MATERIAL Type of CU: POLE
TL69 for 35kV & 46kV, ITEM NYSEG CMP .
TG69 for 69KV thru 344Ky, | No. | T | YoM MID MID CU: C*"PT-TN-XV-APE
T345 for 345kV & greater. 1 6 EA | 1000910700 NUT LCK MF SQ 3/4 BOLT GALV
2 2 | EA [1000910800 NUT LCK MF SQ 7/8 BOLT GALV
For correct CU- 3 6 | EA [1000911800 NUT SQ 3/4 BOLT GALV
substitute 5 for NYSEG 4 2 | EA [1000911900 NUT SQ 7/8 BOLT GALV
6 for CMP or 9 for RG&E 5 6 | EA 1000943500 WSHR CRV 3 SQ X 1/4 THK 13/16 H
in place of asterisk (C* ). 6 2 | EA [1000943700 : WSHR CRV 4 SQ X 3/8 THK 15/16 H
- 7 1 EA 1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
8 2 | EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
9 2 | EA | 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
10 2 | EA | 192333 BOLT MACH GALV SQHD SQNT 3/4 X 20
11 2 | EA [1035475024 BOLT MACH GALV SQHD SQNT 7/8 X 24
12 6 | EA 1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
13 2 | EA [1036200007 CLMP GRND WIRE U-CLIP 15/16 H
14 6 | EA 6000274610 | WSHR HELICAL 3/4
15 2 | EA 6000274612 | WSHR HELICAL 7/8
BILL OF MATERIAL Type of CU: INSO
"ol arv. | uom NYSEC o CU: C*CT-TI-5P-HC
NOTE A: OTHER STANDARD DRAWINGS REQUIRED: 20 |3 CUs | EA |1005553510 INS L/P 35KV H G/B CLMPT PORCELAIN
TG-02-002 POLE GROUNDING
TD-03-001 FOUNDATION/BACKFILL DETAIL CLASS 1 OR SMALLER
TD-03-002 FOUNDATION/BACKFILL DETAIL CLASS H POLES
NOTE B: POLE DRILLING: FOR 3/4" BOLTS - 13/16" (POST INSULATOR)
FOR 7/8" BOLTS - 15/16" (POLE PLATE)
IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Conductor ; Static : Guying
. : Guyin .
CU Macro | Conductor | ~gpecify Static Specify Ying | specify
C5M-TN5VAPES-3-0O (3)- 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
C5M-TN5VAPES-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
C5M-TN5VAPES-X-O (3) - 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
C5M-TN5VAPES-3-L (3)- 4/0 AAAC 7 TS-B1A1-3 (1) - T#7 (7/16") AWLD | TP-W-AS-G-H | 20M Awlid | (2) TR-01-S-130
C5M-TNSVAPES-B-L (3) - 477 ACSR 18/1 TS-B1A1-B | (1)-7#7 (7/16")AWLD | TP-W-AS-G-H |20M Awld | (2) TR-01-S-130
C5M-TN5VAPES-X-L (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7T#7 (7/16") AWLD | TP-W-AS-G-H | 20M Awld | (2) TR-01-S-130
(

FOR ALL MACRO CUs: (Type of CU: STRU)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" =1'-0"
IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
s ggﬁg?g"&%ﬂloo% 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS 0° - 15° ANGLE - HORIZONTAL POSTS ALL ONE SIDE DATE
USA MANUAL TM.2.23 PORCELAIN POST INSULATORS - CURVED GAIN BASE /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]Date App.:
L.A. Best | 6/24/2013 | Bartczak/Becken/Shepard | / /2013 | Barry R. Hart | / /2013 TN'5VAPE Sheet 1




{ O CU Function: BILL OF MATERIAL Type of CU: POLE
= JEe TL69 for 35kV & 46kV ITEM NYSEG CMP *
() ’ QTY. uoMm . - -
"—““‘“ REFER TO PLAN TG69 for 69KV thru 344kV, NO. MID MID CU: C"PT-TN-XVAPF
/ & PROFILE FOR T345 for 345KV & greater. 1 6 EA [1000910700 NUT LCK MF SQ 3/4 BOLT GALV
"TO" OR "TP" 2 2 EA [1000910800 NUT LCK MF SQ 7/8 BOLT GALV
/ STATIC =S =Cb For correct CU: 3 6 EA [1000911800 NUT SQ 3/4 BOLT GALV
= / ATTACHMENT substitute 5 for NYSEG, 4 2 EA [1000911900 NUT SQ 7/8 BOLT GALV
S 6 for CMP or 9 for RG&E 5 6 EA [ 1000943500 WSHR CRV 3 SQ X 1/4 THK 13/16 H
N~ Typical Guying & Anchorin . . .
ypical Guying g « 6 2 EA 1000943700 WSHR CRV 4 SQ X 3/8 THK 15/16 H
/ — in place of asterisk (C*_).
C*PT-TR-01-T-02-B 7 1 EA [1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
/ C*PT-TH-01-001-AB 8 2 EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
5 9 2 EA 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
- / 10 2 EA 192333 BOLT MACH GALV SQHD SQNT 3/4 X 20
r USE TS-P1A1-* 11 2 EA [ 1035475024 BOLT MACH GALV SQHD SQNT 7/8 X 24
’ FOR CONDUCTOR 12 6 EA [1036200006 | 6000251030 [ CLMP GRND WIRE U-CLIP 13/16 H
f 0002000 SPECIEY 13 2 EA [1036200007 CLMP GRND WIRE U-CLIP 15/16 H
14 6 EA 6000274610 | WSHR HELICAL 3/4
* SQUARE 15 2 EA 6000274612 | WSHR HELICAL 7/8
P NUT
R SUPPLIED BILL OF MATERIAL Type of CU: INSO
WITH
BOLT No. | arv. [uowm |  M{IPE b CU: C*CT-TI-5Y-HC
5 NOTE A: OTHER STANDARD DRAWINGS REQUIRED: 20 |3 CUs| EA | 199541 INS L/P 35KV H G/B CLMPT POLYMER
< TG-02-002 POLE GROUNDING
TD-03-001 FOUNDATION/BACKFILL DETAIL CLASS 1 OR SMALLER
/"' W TD-03-002 FOUNDATION/BACKFILL DETAIL CLASS H POLES
)
NOOTE060 NOTE B: POLE DRILLING: FOR 3/4" BOLTS - 13/16" (POST INSULATOR)
FOR 7/8" BOLTS - 15/16" (POLE PLATE)
S
~
'oe@@aewé
S i IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
AR / INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
L - N
Z Conductor . Static : Guying
3 Conductor - Static - Guyin -
REFER TO PLAN {z _ - CU Macro Specify Specify ying Specify
& PROFILE 5 5 m % Ql C5M-TN5VAPFS-3-0 (3) - 4/0 AAAC 7 TS-B1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
FOR "TR" GUYING T = = (7] "
ASSEMBLIES ~ & E a %} C5M-TN5VAPFS-B-O (3) - 477 ACSR 18/1 TS-B1A1-B | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
& "TH" ANCHOR Fo - c% C5M-TN5VAPFS-X-0 (3) - 795 ACSR 26/7 TS-B1A1-X | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (2) TR-01-S-130
ASSEMBLIES =
< C5M-TN5VAPFS-3-L (3) - 4/0 AAAC 7 TS-B1A1-3 (1) - 7#7 (7/16") AWLD | TP-W-AS-G-H |20M Awld | (2) TR-01-S-130
TYZF’(;ACAA&LJWI%ES : C5M-TN5VAPFS-B-L (3) - 477 ACSR 18/1 TS-B1A1-B (1) - 7#7 (7/16") AWLD | TP-W-AS-G-H | 20M Awld | (2) TR-01-S-130
ASSEMBLIES | C5M-TN5VAPFS-X-L (3) - 795 ACSR 26/7 TS-B1A1-X (1) - 7#7 (7/16") AWLD | TP-W-AS-G-H | 20M Awld | (2) TR-01-S-130
TR-01-X
20" FOR ALL MACRO CUs: (Type of CU: STRU)
GROUND LINE |
R
| THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" =1'-0"

SEE GROUNDING

DETAIL TG-02-002

IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
% ggﬁg?g"&%ﬂloo% 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS 0° - 15° ANGLE - HORIZONTAL POSTS ALL ONE SIDE DATE
USA MANUAL TM.2.23 POLYMER POST INSULATORS - CURVED GAIN BASE / 12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]DateApp.:
L.A. Best | 8/26/2013 | Bartczak/Becken/Shepard | / /2013 | Barry R. Hart | / /2013 TN'SVAPF Sheet 1




&

>

T 1—®

f

79"

* SQUARE
NUT
SUPPLIED
WITH

BOLT/

70"

70"

8"

/

REFER TO PLAN

& PROFILE

FOR "TR" GUYING
ASSEMBLIES

& "TH" ANCHOR
ASSEMBLIES

TYPICALLY USES

20M GUYING
ASSEMBLIES
TR-01-X

20"
TYPICAL
BETWEEN

GROUND LINE

CLIPS

__ & TRANSMISSION LINE%

4 DISCS

S

REFER TO PLAN
& PROFILE FOR
"TO" OR "TP"
STATIC
ATTACHMENT

USE
TS-S1A1-X
FOR
CONDUCTOR
SPECIFY

PER STRING

SEE
GUYING
DETAIL

|

| seE croUNDING
| DETAILTG-02-002
|
|
|

S Ct CmCb

Typical Guying & Anchoring

C*PT-TR-01-T-02-D
C*PT-TH-01-001-AD

NOTE A:

NOTE B:

NOTE C:

NOTE D:

CU Function: BILL OF MATERIAL Type of CU: POLE
TL69 for 35kV & 46KV, ITEM NYSEG CMP ] *
TG69 for 69KV thru 344ky, | No. | 9T | YoM MID MID CU: C*PT-XV-AS
T345 for 345KV & greater. 1 6 | EA 1000910800 [ 6000273690 [ NUT LCK MF SQ 7/8 BOLT GALV
2 6 | EA 1000911900 [ 6000273770 [NUT SQ 7/8 BOLT GALV
o For correct CU: 3 1 EA 1010177500 [ 6000820050 | POLE TOPPER 16 IN
substitute 5 for NYSEG, 4 1 EA [1035475014 [ 6000272350 [BOLT MACH GALV SQHD SQNT 7/8 X 14
6 for CMP or 9 for RG&E 5 1 EA [1035475016 [ 6000272360 [BOLT MACH GALV SQHD SQNT 7/8 X 16
in place of asterisk (C* ). 6 1 EA [1035475018 [ 6000272370 [BOLT MACH GALV SQHD SQNT 7/8 X 18
- 7 1 EA [1035475020 [ 6000272380 [BOLT MACH GALV SQHD SQNT 7/8 X 20
8 1 EA | 1035475022 [ 6000272390 |[BOLT MACH GALV SQHD SQNT 7/8 X 22
9 1 EA [ 1035475024 [ 6000272400 [BOLT MACH GALV SQHD SQNT 7/8 X 24
10 6 | EA [1036200007 | 6000251031 | CLMP GRND WIRE U-CLIP 15/16 H
11 6 | EA 6000274040 [PLT POLE SGL EYE - 15/16 H
12 6 | EA 6000274612 | WSHR HELICAL 7/8
BILL OF MATERIAL Type of CU: INSO
No. | arv. | uom Mo S CU: C*CT-TI-9P-D3-4
20 [3CUs | EA [1005504560 | 6000310739 | INS SUS CL52-3 10K TEST/20K M&E
OTHER STANDARD DRAWINGS REQUIRED:
TG-02-002 POLE GROUNDING
TD-03-001 FOUNDATION/BACKFILL DETAIL - CLASS 1 OR SMALLER
TD-03-002 FOUNDATION/BACKFILL DETAIL - CLASS H POLES
POLE DRILLING: FOR 7/8"BOLTS - 15/16"
FOR LINE ANGLES OVER 28°, USE HUBBELL (ANDERSON) HAC SERIES
OR MACLEAN (BETHEA) ALS SERIES SUSPENSION CLAMPS.
FOR SMALLER LINE ANGLES, USE STANDARD SUSPENSION CLAMPS.
LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON THE
ACTUAL SIZE OF THE POLE USED. SUBSTITUTE SAP MATERIAL ID FOR
THE LENGTH NEEDED. CONTACT ELECTRIC SYSTEM ENGINEERING -
TRANSMISSION SECTION FOR ASSISTANCE IN CHOOSING MATERIAL ID.
IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Conductor ; Static : Guying
. : Guyin .
CU Macro | Conductor | ~gpecify Static Specify Ying | specify
C5M-TN5VASAS-3-0O (3) - 4/0 AAAC 7 TS-S1A1-3 | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (4) TR-01-S-130
C5M-TN5VASAS-B-O (3) - 477 ACSR 18/1 TS-S1A1-B | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (4) TR-01-S-130
C5M-TN5VASAS-X-O (3) - 795 ACSR 26/7 TS-S1A1-X | (1) - Std 36 Fiber OPGW | TO-W-A1-G-O | 20M Awld | (4) TR-01-S-130
C5M-TN5VASAS-3-H (3)-4/0 AAAC 7 TS-S1A1-3 (1) - 7#7 (7/16") AWLD | TP-W-AS-G-H |20M Awld | (4) TR-01-S-130
C5M-TN5VASAS-B-H (3) - 477 ACSR 18/1 TS-S1A1-B (1) - T#7 (7/16") AWLD | TP-W-AS-G-H |20M Awld | (4) TR-01-S-130
CS5M-TN5VASAS-X-H (3) - 795 ACSR 26/7 TS-S1A1-X (1) - 7#7 (7/16") AWLD | TP-W-AS-G-H |20M Awld | (4) TR-01-S-130
(

FOR ALL MACRO CUs: (Type of CU: STRU)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact System Engineering - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1/4" = 1'-0"

IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
s ggﬁg%"&scs;loo% 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA| ~ STANDARDS ANGLE SUSPENSION DATE
USA MANUAL TM.2.23 /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]Date App.:
LA Best | 6/24/2013 | Bartczak/Becken/Shepard | / /2013 | Barry R Hart |/ /2013 TN-5VAS Sheet 1




REFER TO PLAN

> T 1—®
! REFER TO PLAN
& PROFILE FOR
SN / TR
5 SUPPLIED // ATTACHMENT
i\ I\évor[[;l— / / / 4 DISCS
/ / / PER STRING
i EO T
i
1‘ : ; o
o gz
_ JJ@@@@mem/”
z DRBBEBT
J/
GO LOE
- :
‘ * 8.
_ JJQ@G@@Q@
z DROBRBEBE)

& PROFILE
FOR "TR" GUYING
ASSEMBLIES 4z
&"TH"ANCHOR £ 3w @
ASSEMBLIES AL
e
TYPICALLY USES «
20M GUYING
ASSEMBLIES
TRO1-X GROUND LINE
TR TR

SEE GROUNDING

DETAIL TG-02-002

USE
TS-N2P1F1-*
FOR
CONDUCTOR
SPECIFY

NOTE A:

NOTE B:

NOTE C:

BILL OF MATERIAL

Type of CU: POLE

CU Function: ITEM NYSEG cMp .
TL69 for 35KV & 46KV, no. | OTY- |uom MID MID CU: C*PT-TN-XV-DJH
S TG69 for 69KV thru 344kV, | 1 6 EA [1000910700 NUT LCK MF SQ 3/4 BOLT GALV
Ct T345 for 345kV & greater. 2 12 | EA [1000910800 | 6000273690 |NUT LCK MF SQ 7/8 BOLT GALV
Cm 3 6 EA [ 1000911800 NUT SQ 3/4 BOLT GALV
Cb For correct CU: 4 12 | EA [1000911900 | 6000273770 |NUT SQ 7/8 BOLT GALV
substitute 5 for NYSEG, 5 6 EA [1000943500 : WSHR CRV 3 SQ X 1/4 THK 13/16 H
6 for CMP or 9 for RG&E 6 1 EA [1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
S in place of asterisk (C*_). 7 2 EA 192295 BOLT MACH GALV SQHD SQNT 3/4 X 14
8 2 EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
9 2 EA 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
Cb 10 2 EA [1035475014 | 6000272350 | BOLT MACH GALV SQHD SQNT 7/8 X 14
Cm 11 2 EA [1035475016 | 6000272360 | BOLT MACH GALV SQHD SQNT 7/8 X 16
Ct 12 2 EA | 1035475018 | 6000272370 | BOLT MACH GALV SQHD SQNT 7/8 X 18
S 13 2 EA | 1035475020 | 6000272380 |BOLT MACH GALV SQHD SQNT 7/8 X 20
14 2 EA | 1035475022 | 6000272390 |BOLT MACH GALV SQHD SQNT 7/8 X 22
Tvpical Guving & Anchorin 15 2 EA | 1035475024 | 6000272400 | BOLT MACH GALV SQHD SQNT 7/8 X 24
B TR o 16 | 6 | EA [1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
CPTTH.01-001 Al 17 | 12 | EA [1036200007 | 6000251031 | CLMP GRND WIRE U-CLIP 15/16 H
18 | 12 | EA 6000274040 |PLT POLE SGL EYE - 15/16 H
19 6 EA 6000274610 | WSHR HELICAL 3/4
20 | 12 | EA 6000274612 | WSHR HELICAL 7/8
OTHER STANDARD DRAWINGS REQUIRED:
TG-02-002 POLE GROUNDING BILL OF MATERIAL Type of CU: INSO
TD-03-001 FOUNDATION/BACKFILL DETAIL - CLASS 1 OR SMALLER ITEM NYSEG cwP L~
QTY. UoM - - - -
TD-03-002 FOUNDATION/BACKFILL DETAIL - CLASS H POLES NO. MID MID CU: C*CT-TI-9P-D3-4
25 [ 6 CUs | EA [1005504560 INS SUS CL52-3 10K TEST/20K M&E
POLE DRILLING: FOR 3/4" BOLTS - 13/16" (POST INSULATOR)
FOR 7/8" BOLTS - 15/16" (GUY PLATE) BILL OF MATERIAL Type of CU: INSO
ITEM NYSEG CMP . *
LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON no. | GTY. | UoM MID MID CU: C*CT-TI-5P-HC
THE ACTUAL SIZE OF THE POLE USED. SUBSTITUTE SAP MATERIAL 30 [3CUs | EA [1005553510 INS L/P 35KV H G/B CLMPT PORCELAIN
ID FOR THE LENGTH NEEDED. CONTACT ELECTRIC SYSTEM
ENGINEERING - TRANSMISSION SECTION FOR ASSISTANCE IN
CHOOSING MATERIAL ID.
IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Conductor ; Static : Guying
. : Guyin .
CU Macro | Conductor | ~gpecify Static Specify Ying | specify
C5M-TN5VDJKF-3-0 (3) - 4/0 AAAC 7 TS-N2P1F1-3 | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-S-130
C5M-TN5VDJKF-B-O (3)-477 ACSR 18/1 | TS-N2P1F1-B | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-S-130
C5M-TN5VDJKF-X-O (3)- 795 ACSR 26/7 | TS-N2P1F1-X | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-S-130
C5M-TN5VDJKF-3-H (3) - 4/0 AAAC 7 TS-N2P1F1-3 | (1)-7#7 (7/16") AWLD | TP-W-AD-G-H | 20M Awld | (9) TR-01-S-130
C5M-TN5VDJKF-B-H (3)-477 ACSR 18/1 | TS-N2P1F1-B | (1)-7#7 (7/16")AWLD | TP-W-AD-G-H | 20M Awlid | (9) TR-01-S-130
C5M-TN5VDJKF-X-H (3)-795 ACSR 26/7 | TS-N2P1F1-X | (1)- 7#7 (7/16") AWLD | TP-W-AD-G-H | 20M Awlid | (9) TR-01-S-130
(

FOR ALL MACRO CUs: (Type of CU: STRU)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact System Engineering - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1/4" =1'-Q0"

IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
i ggﬁgﬁg"&%ﬂ%ﬁ 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS VERTICAL ANGLE DEAD END 50° AND UNDER DATE
USA MANUAL TM.2.23 WITH PORCELAIN JUMPER POST / 12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ]DateApp.:
L.A. Best | 6/24/2013 | Bartczak/Becken/Shepard | / /2013 Barry R. Hart | / /2013 TN'5VDJH Sheet 1




| BILL OF MATERIAL Type of CU: POLE

= CU Function: ITEM
2 e s TLeoforaskv s gk, o | o Juom] MeeEe e CU: C*PT-TN-XV-DO
1 & PROFILE FOR Ct TG69 for 69KV thru 344kV, | 1 12| EA [1000910800 | 6000273690 | NUT LCK MF SQ 7/8 BOLT GALV
* SQUARE / "TO" OR "TP" Cm T345 for 345kV & greater. 2 12 EA 1000911900 | 6000273770 |[NUT SQ 7/8 BOLT GALV
NUT STATIC Cb 3 1| EA [1010177500 [ 6000820050 [POLE TOPPER 16 IN DIA
.| SUPPLIED / / ATTACHMENT For correct CU: 4 2 | EA [1035475014 | 6000272350 [BOLT MACH GALV SQHD SQNT 7/8 X 14
2 WITH substitute 5 for NYSEG, 5 2 | EA [1035475016 | 6000272360 |BOLT MACH GALV SQHD SQNT 7/8 X 16
ya / / S 6 for CMP or 9 for RG&E 6 2 | EA [1035475018 | 6000272370 |BOLT MACH GALV SQHD SQNT 7/8 X 18
4DISCS in place of asterisk (C* ). 7 2 | EA [1035475020 [ 6000272380 [BOLT MACH GALV SQHD SQNT 7/8 X 20
PER STRING 8 2 | EA [1035475022 6000272390 |BOLT MACH GALV SQHD SQNT 7/8 X 22
Cb 9 2 | EA [1035475024 | 6000272400 [BOLT MACH GALV SQHD SQNT 7/8 X 24
cm 10 | 12 | EA [1036200007 | 6000251031 [ CLMP GRND WIRE U-CLIP 15/16 H
USE S ct 11 ] 12 | EA 6000274040 |PLT POLE SGL EYE - 15/16 H
12 | 12 | EA 6000274612 | WSHR HELICAL 7/8

TS-N2F1-*

FOR

CONDUCTOR Typical Guying & Anchoring Type of CU: INSO
NDUCTC cal_Guying & Anch BILL OF MATERIAL ype o

C*PT-TH-01-001-Al No | orv. |uom | NUPE s CU: C*CT-TI-9P-D3-4

15 |6 CUs | EA | 1005504560 INS SUS CL52-3 10K TEST/20K M&E

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:

% TG-02-002 POLE GROUNDING
N TD-03-001  FOUNDATION/BACKFILL DETAIL - CLASS 1 OR SMALLER
o TD-03-002 FOUNDATION/BACKFILL DETAIL - CLASS H POLES

NOTE B: POLE DRILLING: FOR 7/8" BOLTS - 15/16"

NOTE C: LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON THE
ACTUAL SIZE OF THE POLE USED. SUBSTITUTE SAP MATERIAL ID FOR
THE LENGTH NEEDED. CONTACT ELECTRIC SYSTEM ENGINEERING -
TRANSMISSION SECTION FOR ASSISTANCE IN CHOOSING MATERIAL ID.

/ IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
/ INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
YT Conductor Static Guyin
L 3ig . i © | Guyin ying
SR | CU Macro | Conductor | "specity Static specity | ®¥"9I|  Specity
/ Fu FOR "TR" GUYING C5M-TN5VDOAC-3-O (3) - 4/0 AAAC 7 TS-N2F1-3 | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-S-130
/ / g ACHOR C5M-TNSVDOAC-B-O | (3)-477ACSR18/1 | TSN2F1-B | (1)- Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-5-130
/ ASSEMBLIES C5M-TN5VDOAC-X-O | (3)-795ACSR 26/7 TS-N2F1-X | (1) - Std 36 Fiber OPGW | TO-W-DE-G-O | 20M Awld | (9) TR-01-S-130
/ TYPICALLY USES C5M-TN5VDOAC-3-H (3) - 4/0 AAAC 7 TS-N2F1-3 (1) - 7#7 (7/16") AWLD | TP-W-AD-G-H |20M Awld | (9) TR-01-S-130
20M GUYING C5M-TN5VDOAC-B-H (3) - 477 ACSR 18/1 TS-N2F1-B (1) - 7#7 (7/16") AWLD | TP-W-AD-G-H |20M Awld | (9) TR-01-S-130
AS?SFS?-&ES C5M-TN5VDOAC-X-H | (3)-795ACSR 26/7 TS-N2F1-X (1) - 7#7 (7/16") AWLD | TP-W-AD-G-H |20M Awld | (9) TR-01-S-130
FOR ALL MACRO CUs: (Type of CU: STRU)
GROUND LINE
TR | R
| THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
| Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" = 1'-0"
|| SEEGROUNDING _ IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
: : U ggﬁg?g"&%ﬂloo% 35kV SINGLE POLE SINGLE CIRCUIT 0
o IBERDROLA STANDARDS VERTICAL ANGLE DEAD END OVER 50° DATE
o USA MANUAL TM.2.23 /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ] Date App.:
= L.A. Best | 6/24/2013 | Bartczak/Becken/Shepard | / /2013 | BarryR.Hart | / /2013 TN'SVDO Sheet 1




|—

T 1—®

gu

p—

2|_0|l
TYPICAL

CLIPS
N

ETWEEN

\"3

1/

A I
REFER TO PLAN
& PROFILE FOR

"TO" OR "TP"
STATIC
ATTACHMENT

4 DISCS
PER STRING

USE

TS-N1P1-*
FOR
CONDUCTOR
SPECIFY

P—W

* SQUARE
NUT
SUPPLIED
WITH
BOLT

REFER TO PLAN
& PROFILE
FOR "TR" GUYING
ASSEMBLIES
& "TH" ANCHOR
ASSEMBLIES

TYPICALLY USES
20M GUYING
ASSEMBLIES

TR-01-X

TR

SEE

GROUND LINE

2

GROUNDING

|
|
| DETAIL TG-02-002
|
|
|

]

VIEW "B - B"

BILL OF MATERIAL Type of CU: POLE
S
o' | arv. | uom R o CU: C*PT-TN-XV-RTH
1 6 | EA [1000910700 NUT LCK MF SQ 3/4 BOLT GALV
2 6 | EA [1000910800 | 6000273690 |[NUT LCK MF SQ 7/8 BOLT GALV
o 3 6 | EA [1000911800 NUT SQ 3/4 BOLT GALV
S ot om Cb 4 6 | EA [1000911900 | 6000273770 |[NUT SQ 7/8 BOLT GALV
5 6 | EA [1000943500 - WSHR CRV 3 SQ X 1/4 THK 13/16 H
Typical Guying & Anchoring 6 1| EA [1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
C*PT-TR-01-T-02-E 7 2 | EA ] 192295 BOLT MACH GALV SQHD SQNT 3/4 X 14
C*PT-TH-01-001-AE 8 2 | EA [1035474016 BOLT MACH GALV SQHD SQNT 3/4 X 16
9 2 | EA | 192325 BOLT MACH GALV SQHD SQNT 3/4 X 18
10 1| EA [1035475014 [ 6000272350 | BOLT MACH GALV SQHD SQNT 7/8 X 14
11 1| EA [1035475016 | 6000272360 | BOLT MACH GALV SQHD SQNT 7/8 X 16
NOTE A: OTHER STANDARD DRAWINGS REQUIRED: 12 1 EA [1035475018 | 6000272370 [BOLT MACH GALV SQHD SQNT 7/8 X 18
TG-02-002  POLE GROUNDING 13 1 EA [ 1035475020 [ 6000272380 [BOLT MACH GALV SQHD SQNT 7/8 X 20
TD-03-001  FOUNDATION/BACKFILL DETAIL 14 1 EA [1035475022 [ 6000272390 [BOLT MACH GALV SQHD SQNT 7/8 X 22
- CLASS 1 OR SMALLER 15 1 | EA [1035475024 | 6000272400 | BOLT MACH GALV SQHD SQNT 7/8 X 24
TD-03-002 FOUNDATION/BACKFILL DETAIL 16 6 EA [1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
- CLASS H POLES 17 | 6 | EA 1036200007 | 6000251031 CLMP GRND WIRE U-CLIP 15/16 H
18| 6 | EA 6000274040 |PLT POLE SGL EYE - 15/16 H
NOTE B: POLE DRILLING: FOR 3/4" BOLTS - 13/16" 9 6 | EA 6000274610 | WSHR HELICAL 3/4
(POST INSULATOR) 20| 6 |EA 6000274612 | WSHR HELICAL 7/8
FOR 7/8" BOLTS - 15/16"
(POLE PLATE) BILL OF MATERIAL Type of CU: INSO
NOTE C: MINIMUM ELECTRICAL CLEARANCE TO GROUNDED | 1o'| atv. |uom | NYSEG o CU: C*CT-TI-9P-D3-4
METAL AND FIBERGLASS FOR 35kV =13". 25 |3 CUs | EA [1005504560 INS SUS CL52-3 10K TEST/20K M&E
NOTE D: LONGER OR SHORTER BOLTS MAY BE REQUIRED |
DEPENDING ON THE ACTUAL SIZE OF THE POLE — BILL OF MATERL/:‘SLEG - Type of CU: INSO
USED. SUBSTITUTE SAP MATERIAL ID FOR THE 24 ary. | uom TS P CU: C*CT-TI-5P-HC
LENGTH NEEDED. CONTACT ELECTRIC SYSTEM 30 [3CUs | EA [1005553510 INS /P 35KV H G/B CLMPT PORCELAIN
ENGINEERING - TRANSMISSION SECTION FOR
ASSISTANCE IN CHOOSING MATERIAL ID.
CU Function:
TL69 for 35kV & 46kV,
TG69 for 69KV thru 344kV,
T345 for 345kV & greater.
IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED For correct CU:
INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY. substitute 5 for NYSEG,
Conductor . Static . Guying 6 for CMP or 9 for RG&E
CU Macro Conductor Specify Static Specify Guying Specify in place of asterisk (C*_).
C5M-TN5VRTHX-3-0 (3) - 4/0 AAAC 7 TS-N2P1F1-3 | (1) - Std 36 Fiber OPGW | TO-W-AD-G-O | 20M Awld | (5) TR-01-S-130
C5M-TN5VRTHX-B-O (3)-477 ACSR 18/1 | TS-N2P1F1-B | (1) - Std 36 Fiber OPGW | TO-W-AD-G-O | 20M Awld | (5) TR-01-S-130
C5M-TNSVRTHX-X-O | (3)-795ACSR26/7 | TS-N2P1F1-X | (1) - Std 36 Fiber OPGW | TO-W-AD-G-O | 20M Awid | (5) TR-01-S-130
C5M-TN5VRTHX-3-H (3) - 4/0 AAAC 7 TS-N2P1F1-3 | (1)- 7#7 (7/16") AWLD | TP-W-AD-G-H |20M Awld | (5) TR-01-S-130
C5M-TN5VRTHX-B-H (3)-477 ACSR 18/1 | TS-N2P1F1-B | (1)-7#7 (7/16")AWLD | TP-W-AD-G-H | 20M Awid | (5) TR-01-S-130
C5M-TNSVRTHX-X-H | (3)-795ACSR26/7 | TS-N2P1F1-X | (1)- 7#7 (7/16")AWLD | TP-W-AD-G-H | 20M Awld | (5) TR-01-S-130

FOR ALL MACRO CUs: (Type of CU: STRU)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact System Engineering - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1/4" =1'-Q0"

IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
o ggﬁgﬁg"&%ﬂ%ﬁl 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS VERTICAL DEAD END - PORCELAIN POST INSULATORS DATE
USA MANUAL TM.2.23 WITH REDUCED TENSION SPAN / 12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:
LA Bost | 624/2013 | BariczaklBecken/Shepard |/ /2013 BZfry R Fart % T 72013 TN-5VRTH Sheet 1




6"9"

5-6"

70"

70"

30"

20"

@ SEE PLAN & PROFILE, o BILL OF MATERIAL (CU Type: POLE)
1 09909@ o o ‘= |}/ Detaib Tt arv. Juom | e CU: C*PT-TN-5VSXA
— ,?Pﬁvcvfﬁg,ﬁ o 1 | 12 | EA | 1000910800 |[NUT LCK MF SQ 7/8 BOLT GALV
e 2 6 | EA 6000273770 [NUT SQ 7/8 BOLT GALV
/ REFER TO 3 4 EA |1035475018 [BOLT SQ HEAD 7/8 X 18 W/ SQ NUT (NOTE D)
;7 "TS" SECTION 4 2 | EA | 1035475020 |BOLT SQ HEAD 7/8 X 20 W/ SQ NUT (NOTE D)
/ FOR 5 2 | EA | 1035475022 |BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)
/ (1X(2X(4X7X8X9)a0) conpucTor 2 6 4 | EA [1035475024 |BOLT SQ HEAD 7/8 X 24 W/ SQ NUT (NOTE D)
y 400 - SPECIFY 7 12 | EA 6000274612 | WASHER HELICAL (7/8")
@ 8 6 | EA | 6000274880 | WASHER 4" SQ. CURVED (7/8")
- 9 9 | EA |6000274040 |PLT POLE EYE 15/16 H
Y , M 10 6 | EA |1036200007 | CLMP GRND WIRE U-CLIP 15/16 H
e 5 INSULATORS 11 | 3 | EA 1036232100 | CONN 1B W/SPCR
e Y \@) PER STRING 12 1 | EA | 6000820052 |POLE TOPPER 19"
Iy }( OR BILL OF MATERIAL - 1200 AMP SWITCH (CU Type: SWITCH)
C*CT-TI-9Y-P3-C ITEM IUSA .
NO. QTY. UoM MID CU C*CT'TU'SWSDJ.S'I
13 1 | EA | 753045 |SWITCH ASSY, 2-WAY, INTRPTR, 1200 AMP (NOTE E)
BILL OF MATERIAL - 2000 AMP SWITCH (CU Type: SWITCH)
Too | erv. fuom | o8 CU: C*CT-TU-SW5D2S-|
13 1 | EA | 6000641197 | SWITCH ASSY, 2-WAY, INTRPTR, 2000 AMP (NOTE E)
BILL OF MATERIAL (CU Type: INSO)
Moo | Qrv. fuom [ R0 CU: C*CT-TI-9P-D3-5
gl 14 |9 CUs | EA | 6000310739 |INS SUS CL52-3 20K M&E BRN (5 UNITS/STRING)
'\‘%" "D orv. Juow| U CU: C*CT-TI-9Y-P3-C
NO. ’ MID .
5 =il 14 9 | EA | 6000316539 |INS POLY Y-BALL 30K 5 UNIT EQ.
— USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
‘ Detail € CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
{ C*M-TN5VS2AC-B-H | (3)-477 ACSR 18/1 | (1) - 7#7 (7/16") AWLD TS-N9T3-B TP-W-DE-G-H
2 REFER TO | TP-W-XD-G-H
"TH" AND "TR" ‘ ) TO-W-DE-G-O
} ) ‘0 } SECTIONS FOR ‘ C*M-TN5VS2AC-B-O | (3)-477 ACSR 18/1 | (1) - 36 FIBER OPGW TS-N9T3-B TOWD60
| GUYING AND ! TO-W-DE-G-S
Q§9§ el ANCHOR DETAILS 45 } o C*M-TN5VS2AC-B-S | (3)-477 ACSR 18/1 |(1)- 36 FIBER SPEC. OPGW TS-N9T3-B TOWXD-GS
QOLMIEN / LRI AN TP-W-DE-G-H
L= E INSULATED bt *M- -X- - - " - _ “VW-DEo-
= 2%3 AsggMBLIES 7 goF TRANSMISSION LINE N C*M-TN5VS2AC-X-H | (3)-795ACSR 26/7 | (1) - 7#7 (7/16") AWLD TS-N9T3-X TPWXD o]
> - TR-01-X Det—a||C ( :—j ) S\ R _ _ _ _ TO-W-DE-G-O
S. Eo ﬁ@ % C*M-TN5VS2AC-X-O | (3)-795ACSR 26/7 | (1) - 36 FIBER OPGW TS-N9T3-X TOWXDGO
=25 POLE GROUNDING r TO-W-DE-G-S
o - * - e - - - -
S E 3 - OLE GROUNDIY ) C*M-TN5VS2AC-X-S | (3)-795 ACSR 26/7 |(1)-36 FIBER SPEC. OPGW TS-N9T3-X TOWNDGS
@ ™ AND TG-05-002-W ™
CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:
TD FOUNDATION & BACKFILL

TG SWITCH MAT, GROUND WIRE & GROUND ROD DETAILS
TH GUYING ASSEMBLIES

TK MARKINGS

TR GUY ANCHORS

NOTE B: POLE DRILLING: ALL HOLES - 15/16" DIAMETER GUYING PLAN
NOTE C: MAXIMUM LINE TENSION 5000# AT NESC HEAVY LOADING.
NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID

(MID) ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF
MATERIALS. CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E: SWITCH ASSEMBLY INCLUDES SWITCH FRAME, MOUNTING HARDWARE AND GROUND STRAP ASSEMBLIES FOR THE CONTROL PIPES.
NOTE F: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.
NOTE G: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO

NOT ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN
AND PROFILE DRAWING.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1" = 5'

TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

?& CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS 2-WAY SWITCH STRUCTURE DATE
USA MANUAL TYPE 35KV GOAB 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Franklin [10/25/2013 Becken/Hart 3/5/2015 | Barry R. Hart | 5/18/2015 TM2.23. TN-5VS2A-X | sheet1




6"9"

5-6"

70"

70"

30"

20"

Pﬂ/® SEE PLAN & PROFILE BILL OF MATERIAL (CU Type: POLE)
000, OoHawoRew 4 o e CU: C*PT-TN-5VSXA
0494@ ATTACHMENT  © 12| EA 1000910800 |NUT LCK MF SQ 7/8 BOLT GALV
L/ 6 | EA 6000273770 [NUT SQ 7/8 BOLT GALV
y REFER TO 4| EA 1035475018 [BOLT SQ HEAD 7/8 X 18 W/ SQ NUT (NOTE D)
,/ "TS" SECTION 2 | EA |1035475020 |BOLT SQ HEAD 7/8 X 20 W/ SQ NUT (NOTE D)
e FOR . 2 | EA [1035475022 |BOLT SQ HEAD 7/8 X 22 W/ SQ NUT (NOTE D)
Y CONDUCTOR 2 4 | EA [1035475024 |[BOLT SQ HEAD 7/8 X 24 W/ SQ NUT (NOTE D)
N do- P SPECIFY 12 | EA |6000274612 | WASHER HELICAL (7/8")
~ 6 | EA | 6000274880 | WASHER 4" SQ. CURVED (7/8")
- — 9 EA | 6000274040 [PLT POLE EYE 15/16 H
/ 6 EA |1036200007 [ CLMP GRND WIRE U-CLIP 15/16 H
/ {HK] _{H):D:D:D}"
3| EA 1036232100 | CONN 1B W/SPCR
/
/ y 5 INSULATORS 1 | EA 16000820052 [POLE TOPPER 19"
// PERSIRING BILL OF MATERIAL - 1200 AMP SWITCH (CU Type: SWITCH)
< ‘o :Z o 960@@@ C*CT-TI-9Y-P3-C . M ory. | uom IUSA CU: C*CT-TU-SW5E1S-|
~ 13 1 EA | 6000641196 [ SWITCH ASSY, 3-WAY, INTRPTR, 1200 AMP (NOTE E)
=ct = BILL OF MATERIAL - 2000 AMP SWITCH (CU Type: SWITCH)
No. | om Juom| N CU: C*CT-TU-SW5E2S-|
1— DO 13 | 1 | EA | 6000641198 | SWITCH ASSY, 3-WAY, INTRPTR, 2000 AMP (NOTE E)
BILL OF MATERIAL (CU Type: INSO)
ITEM IUSA
QTY. | UoMm CU: C*CT-TI-9P-D3-5
NO. MID .
) 14 |9 CUs | EA [6000310739 |INS SUS CL52-3 20K M&E BRN (5 UNITS/STRING)
[(e}
" o | Q. | uom v CU: C*CT-TI-9Y-P3-C
14 |9 | EA |6000316539 [INS POLY Y-BALL 30K 5 UNIT EQ.
" I-I I USE THE MACRO CUs INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Detail 'C
—D:D:{H):DJ= }— CU MACRO CONDUCTOR STATIC COND SPECIFY STATIC SPECIFY
o
; y REFER TO N C*M-TN5VS3AC-B-H | (3)-477 ACSR 18/1 | (1) - 7#7 (7/16") AWLD TS-NOT3-B iEIWIQSZSZE
o
| B’ "TH" AND "TR" *N/ _R.- - - - - TO-W-DE-G-O
b w0 N Lk pa TR } C*M-TN5VS3AC-B-O | (3)-477 ACSR18/1 | (1) - 36 FIBER OPGW TS-N9T3-B TOWXDCG
\ GUYING AND . TO-W-DE-G-S
0,9, Y ANCHOR DETAILS RSS! C*M-TN5VS3AC-B-S | (3)-477 ACSR 18/1 |(1)- 36 FIBER SPEC. OPGW TS-N9T3-B TOWXDG-S
It H ‘ KVYVA .
X9 [ USE INSULATED 7 cor TR C*M-TNSVS3AC-X-H | (3)-795ACSR 26/7 | (1)-7#7 (7/16") AWLD | TS-NOT3-X TPy DECH
) 00 20M ASSEMBLIES
Lz % m ASSEME C*M-TNSVS3AC-X-O | (3)- 795 ACSR 26/7 | (1) - 36 FIBER OPGW TS-NOT3-X To Lol
o%a POLE GROUNDING “W-DE-G-
g ? i BT : C*M-TNSVS3AC-X-S | (3)-795ACSR 26/7 |(1)- 36 FIBER SPEC. OPGW TS-NOT3-X TO-W-DE-G-5
Fa 2| AND TG-05-002-W @ TO-W-XD-G-S
™ e : ™
CU FUNCTION: TL69 FOR 35KV & 46KV, TG69 FOR 69KV THRU 344KV, T345 FOR 345KV & GREATER.

FOR CORRECT CU: SUBSTITUTE 5 FOR NYSEG, 6 FOR CMP OR 9 FOR RG&E IN PLACE OF ASTERISK (C*)).

NOTE A: OTHER STANDARD DRAWINGS REQUIRED:
TD FOUNDATION & BACKFILL
TG SWITCH MAT, GROUND WIRE & GROUND ROD DETAILS
TH  GUYING ASSEMBLIES
TK  MARKINGS
TR  GUY ANCHORS

NOTE B: POLE DRILLING: ALL HOLES - 15/16" DIAMETER

NOTE C: MAXIMUM LINE TENSION 5000# AT NESC HEAVY LOADING. GUYING PLAN

NOTE D: LARGER OR SMALLER BOLTS MAY BE REQUIRED DEPENDING ON THE ACTUAL DIAMETER OF THE POLE USED. SUBSTITUTE MATERIAL ID (MID)
ON THE WORK ORDER COMPONENTS PAGE FOR THE LENGTH NEEDED IF DIFFERENT THAN THE GENERIC LENGTH SHOWN IN THE BILL OF MATERIALS.
CONTACT ENGINEERING STANDARDS - TRANSMISSION SECTION IF YOU NEED ASSISTANCE.

NOTE E: SWITCH ASSEMBLY INCLUDES SWITCH FRAME, MOUNTING HARDWARE AND GROUND STRAP ASSEMBLIES FOR THE CONTROL PIPES.

NOTE F: REFER TO SECTION "TS" FOR CONDUCTOR ASSEMBLIES.

NOTE G: GUYING ANGLES SHOWN ARE GUIDELINES. IF THE SPECIFIC FIELD CONDITIONS IN THE AREA WHERE THIS STRUCTURE IS INSTALLED DO NOT

ACCOMMODATE THIS GUYING ARRANGEMENT THEN THE CHANGES TO THE GUYING ARRANGEMENT SHALL BE NOTED ON THE RESPECTIVE PLAN AND
PROFILE DRAWING.

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact Engineering Standards - Transmission Section for the creation of new standards and CUs.

Drawing Scale: NTS

TRANSMISSION STRUCTURE STANDARDS - WOOD REVISION

& » CONSTRUCTION 35kV SINGLE POLE SINGLE CIRCUIT 00
IBERDROLA STANDARDS 3-WAY SWITCH STRUCTURE DATE
USA MANUAL TYPE 35KV GOAB 5/21/2015

Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: | Date App.:

B. Frankiin[10/29/2013 Becken/Hart 3/05/2015| Barry R. Hart | 5/18/2015 TM2.23. TN-5VS3A-X | sheet1




/

REFER TO PLAN &
PROFILE FOR "TR"
GUYING ASSEMBLIES
& "TH" ANCHOR

/
/

/

ASSEMBLIES

TYPICALLY USES

20M GUYING
ASSEMBLIES
TR-01-X

>
R

21_0"

71_0"

71_0"

20"
TYPICAL
BETWEEN
CLIPS

5'-0" minimum

A{—l

REFER TO PLAN &

PROFILE FOR
llTOll OR IITPII

STATIC ATTACHMENT

USE TS-N1P1T1-*
@ FOR CONDUCTOR
SPECIFY

; =

|—

0

1

o =

N -

I

&=

F:‘

CABLE TRAY ARRANGEMENT

Underground
CENTERLINE

VIEW "A-A"

BILL OF MATERIAL Type of CU: LA BILL OF MATERIAL Type of CU: POLE
Tl | arv. | uom MID CU: C*CT-TI-5P-A1 "ol arv. | uom NYSEC o CU: C*PT-TN-XV-VR
30 |3 CUs | EA | 1088500130 | ARRESTER STA CL 35KV GRND SYS 1 2 | EA [1000910600 NUT LCK MF SQ 5/8 BOLT GALV
2 3 | EA [1000910700 NUT LCK MF SQ 3/4 BOLT GALV
BILL OF MATERIAL Type of CU: INSO 3 10 EA | 1000910800 | 6000273690 | NUT LCK MF SQ 7/8 BOLT GALV
e — 4 2 | EA [1000911700 NUT SQ 5/8 BOLT GALV
No. | QTY. | uom MID CU: C*CT-UG-TRM1 5 6 | EA [ 1000911800 NUT SQ 3/4 BOLT GALV
31 [3CUs | EA 94111 TERM 350-1000KCM 35KV COLD-SHRNK|_6 10 EA 11000911900 | 6000273770 | NUT SQ 7/8 BOLT GALV
7 3 | EA [1000943500 WSHR CRV 3 SQ X 1/4 THK 13/16 H
: 8 4 | EA [1000943700 WSHR CRV 4 SQ X 3/8 THK 15/16 H
BILL OF MATERIAL Type of CU: SHLDO 9 | 1 | EA [1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
nol| o jon ] i CU: ¢*CT-UG-CL1 T2 TEA 1035472018 0000272590 | BOLT MAGH GALV SQHD SORT7/8 X 18
3 LMP HL LA TRAN
3§ 2 Eﬁ ngig EUG % GU TIN PLTSDS 12 2 | EA [1035475020 | 6000272380 | BOLT MACH GALV SQHD SQNT 7/8 X 20
35 6 TEA 199281 TLUG 500 MCM CU 2H 13 2 | EA [1035475022 | 6000272390 | BOLT MACH GALV SQHD SQNT 7/8 X 22
14 1 EA | 1035473022 BOLT MACH GALV SQHD SQNT 5/8 X 22
15 1 EA 192201 BOLT MACH GALV SQHD SQNT 5/8 X 24
. 16 6 | EA 6000274040 |PLT POLE SGL EYE - 15/16 H
BEEED CU Function: Ierigsfﬂlf\fk}’ﬁ 5“2)'1‘242‘?\?9&“‘;;9:;‘: 17 |2 | EA [1007420850 BOLT SCRILAG GALV FET/PT 112 X 3
For correct CU: substitute 5 for NYSEG, 6 for CMP BILL OF MATERIAL Type of CU: SHLDO
or 9 for RG&E in place of asterisk (C*). 'L'é"_" ary. | vom N\'\(ASIEG %A'\I"S’ CU: C*CT-TG-SPVR
18 1 EA [ 1000909100 CLMP GRND ROD 5/8
19 | 40 | EA [1003310000 | 6000251033 | CLIP CU GRND WIRE
20 1 EA | 1007260000 GRND ROD 5/8 X 8F CWLD NO THREAD
21 | 100 | FT | 752373 |6000206605 | WIRE 1C CWLD #2 BR
22 1 LB | 1023091010 NAIL CWLD 16D 3-1/2 LNG
23 2 | EA [1036200005 CLMP GRND WIRE U-CLIP 11/16 H
24 3 | EA [1036200006 | 6000251030 | CLMP GRND WIRE U-CLIP 13/16 H
25 | 10 | EA | 1036200007 | 6000251031 | CLMP GRND WIRE U-CLIP 15/16 H
NOTE A: OTHER STANDARD
DRAWINGS REQUIRED: BILL OF MATERIAL Type of CU: INSO
TG-02 POLE GROUNDING TEM T orv. | uom NYSEG CMP C C*CT.TI.0P.D2.
TD-03-001 FOUNDATION/BACKFILL DETAIL NO. MID MID CU: C*CT-TI-9P-D3-4
CLASS 1 OR SMALLER 26 |3 CUs | EA | 1005504560 INS SUS CL52-3 10K TEST/20K M&E
TD-03-002 FOUNDATION/BACKFILL DETAIL
CLASS H POLES BILL OF MATERIAL Type of CU: INSO
NOTE B: POLE DRILLING: T arv. fuom | NYSEG o CU: C*CT-TI-5Y-V3
FOR 3/4" BOLTS - 13/16"
i . 27 |3CUs | EA 199711 INS L/P 35KV VRT CLMPT POLYMER
FOR 7/8" BOLTS - 15/16 28 | 3 | EA 1035469034 BOLT STUD GALV POST TYPE INSL 3/4 X 14

BILL OF MATERIAL

Type of CU: SHLDO

NYSEG

uoMm MID

CU:. C*CT-UG-BRK1

EA | 6000620050 | BRKT CBL POSITIONING

EA 754012

MTG LA/TERM 35/46 STA CL

EA |NON-STOCK [BRKT STNDFF CONDUIT (9-CSO-36,AF#51966)

TEV T ory)
34 3
36 1
37 2
38 8

EA |NON-STOCK [ CONDUIT HNGR STRP KIT (STK-*)

THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY

Contact System Engineering - Transmission Section for the creation of new standards and CUs.

Drawing Scale: 1/4" =1'-0"

IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
i NS 35kV SINGLE POLE SINGLE CIRCUIT 0
IBERDROLA STANDARDS VERTICAL RISER DATE
USA MANUAL TM.2.23 /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ] Date App.:
L.A. Best | 3/12/2013 | Bartczak/Becken/Shepard | / /2013 Barry R. Hart | / /2013 TN'5V'VR Sheet 1




79"

70"

| _® BILL OF MATERIAL Type of CU: POLE
. T 1 REFER TO PLAN ; : ; CU Function: ITEM NYSEG CMP i
2 & PROFILE FOR Typ'gfo_#’g_‘ng/fgg’gr'ng TL69 for 35kV & 46KV, No. | OTY- | UOM MID MID CU: C*PT-TN-XV-WO
1 "TO" OR "TP" CPTTH-01-001.AD TG69 for 69KV thru 344kv, | 1 | 12 | EA [1000910800 | 6000273690 |[NUT LCK MF SQ 7/8 BOLT GALV
. STATIC T345 for 345kV & greater. | 2 | 12 | EA |1000911900 | 6000273770 |[NUT SQ 7/8 BOLT GALV
SQUARE ATTACHMENT 3 1| EA [1010177500 | 6000820050 | POLE TOPPER 16 IN DIA
NUT ] — For correct CU: 4 2 | EA [1035475014 | 6000272350 | BOLT MACH GALV SQHD SQNT 7/8 X 14
SUPPLIED Q Cb CmCt S substitute 5 for NYSEG, 5 2 | EA [1035475016 | 6000272360 | BOLT MACH GALV SQHD SQNT 7/8 X 16
WITH " 6for CMP or 9 for RG&E | 6 | 2 | EA [1035475018 | 6000272370 | BOLT MACH GALV SQHD SQNT 7/8 X 18
BOLT in place of asterisk (C* ). | 7 | 2 | EA [1035475020 | 6000272380 | BOLT MACH GALV SQHD SQNT 7/8 X 20
8 2 | EA [1035475022 | 6000272390 |BOLT MACH GALV SQHD SQNT 7/8 X 22
9 2 | EA [1035475024 | 6000272400 [BOLT MACH GALV SQHD SQNT 7/8 X 24
10 | 12| EA [1036200007 | 6000251031 CLMP GRND WIRE U-CLIP 15/16 H
i ! 1] 6 |EA 6000274040 |PLT POLE SGL EYE - 15/16 H
o | 2] 6 |EA 6000274044 |PLT POLE DBL EYE - (2) 15/16 H
USE | - 13 | 12 | EA 6000274612 | WSHR HELICAL 7/8
TS-N9F2-* )
FOR © .
CONDUCTOR _ _ BILL OF MATERL/:\SLE i _ Type of CU: INSO
SPECIFY % ol ary. | uom "o D CU: C*CT-TI-9P-D3-4
15 |9 CUs | EA | 1005504560 INS SUS CL52-3 10K TEST/20K M&E
o |
_L:: IF A STRUCTURE IS NEW OR BEING TOTALLY REPLACED, A MACRO CU MAY BE USED
5 INSTEAD OF INDIVIDUAL CU COMPONENTS FOR EASE OF WORK ORDER ENTRY.
Conductor . Static . Guying
= = . . n .
: . CU Macro | Conductor | “gpeciy Static specify | CWINI | specify
C5M-TN5VWOAC-3-O (3) - 4/0 AAAC 7 TS-N9F2-3 | (1) - Std 36 Fiber OPGW | TO-W-3W-G-O | 20M Awld | (4) TR-01-S-130
C5M-TNSVWOAC-B-O | (3)-477 ACSR18/1 | TS-N9F2-B | (1)- Std 36 Fiber OPGW | TO-W-3W-G-O | 20M Awld | (4) TR-01-S-130
C5M-TNSVWOAC-X-O | (3)-795ACSR26/7 | TS-N9F2-X | (1)- Std 36 Fiber OPGW | TO-W-3W-G-O | 20M Awld | (4) TR-01-S-130
_ ‘ * C5M-TN5VWOAGC-3-H (3) - 4/0 AAAC 7 TS-NOF2-3 | (1)-7#7 (7/16") AWLD | TP-W-3W-G-H | 20M Awid | (4) TR-01-S-130
°°l C5M-TNSVWOAC-B-H | (3)-477 ACSR18/1 | TS-NOF2-B | (1)-7#7 (7/16")AWLD | TP-W-3W-G-H | 20M Awid | (4) TR-01-S-130
i C5M-TNSVWOAC-X-H | (3)-795ACSR26/7 | TS-N9F2-X | (1)-7#7 (7/16")AWLD | TP-W-3W-G-H | 20M Awld | (4) TR-01-S-130
© FOR ALL MACRO CUs: (Type of CU: STRU)
REFER TO PLAN
& PROFILE NOTE A: OTHER STANDARD DRAWINGS REQUIRED:
- FOR "TR" GUYING TG-02-002 POLE GROUNDING
-
. 2o ASSEMBLIES TD-03-001 FOUNDATION/BACKFILL DETAIL - CLASS 1 OR SMALLER
2525 & "TH" ANCHOR TD-03-002 FOUNDATION/BACKFILL DETAIL - CLASS H POLES
> o ASSEMBLIES
@ NOTE B: POLE DRILLING: FOR 7/8" BOLTS - 15/16"
TYPICALLY USES
20M GUYING NOTE C: LONGER OR SHORTER BOLTS MAY BE REQUIRED DEPENDING ON THE
ASSEMBLIES ACTUAL SIZE OF THE POLE USED. SUBSTITUTE SAP MATERIAL ID FOR
TR-01-X THE LENGTH NEEDED. CONTACT ELECTRIC SYSTEM ENGINEERING -
TRANSMISSION SECTION FOR ASSISTANCE IN CHOOSING MATERIAL ID.
GROUND LINE GROUND LINE
TR R TR R
| ) | 3 THIS IS A COMPUTER GENERATED DRAWING - DO NOT REVISE MANUALLY
| | Contact System Engineering - Transmission Section for the creation of new standards and CUs. Drawing Scale: 1/4" = 1'-0"
| SEE GROUNDING . IBERDROLA USA TRANSMISSION WOOD STRUCTURE DRAWINGS ISSUE
. . G ggﬁg?g"&%ﬂloo% 35kV SINGLE POLE SINGLE CIRCUIT 0
: : : : IBERDROLA STANDARDS 3-WAY CONDUCTOR AND STATIC VERTICAL DEAD END DATE
o o USA MANUAL TM.2.23 /12013
Drwn. By:| Date Dr.: Checked By: Date Ck.: Approved By: ] Date App.:
L - L.A. Best | 7/5/2013 | Bartczak/Becken/Shepard | / /2013 | BarryR. Hart | / /2013 TN'5VWO Sheet 1




